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SUPPLIED REFERENCE MATERIALS FOR RNP
NRC REACTOR OPERATOR EXAMINATION

REFERENCE NUMBER REFERENCE TITLE

NA Steam Tables

EPP-15, Attachment 1 Required Flow Rate Versus Time After Reactor Trip

GP-005, Attachment 10.1 Reactor Power Ascension Indicator Log

Plant Curve 5.3 Boron Addition — Coolant Hot - Gallons

Plant Curve 5.4 Boron Addition — Coolant Cold - Gallons

Plant Curve 5.7 Dilution — Coolant Hot - Gallons

Plant Curve 5.8 Dilution — Coolant Cold - Gallons

Plant Curve 7.6 System Resistance Curve, Post Accident Containment
Venting System

Plant Curve 7.16 Total Hydrogen Generation Rate from All Sources

Plant Curve 7.19 Loss of Residual Heat Removal Cooling Water Level

Between 0" to —10” Below Vessel Flange

Plant Curve 7.20 Loss of Residual Heat Removal Cooling Water Level
Between —10" to —36" Below Vessel Flange

Plant Curve 7.21 Loss of Residual Heat Removal Cooling Water Level
Between —-36" to —72” Below Vessel Flange



RNP NRC Written Examination
Reactor Operator

Question: 1

Given the following conditions:

e The unit is operating at 100% power.

e Annunciators APP-008-E7, S. SW HDR STRAINER PIT HI LEVEL, and APP-008-F7,
SOUTH SW HDR LO PRESS, come in simultaneously.

Which ONE (1) of the following actions is required as an immediate action?

a. Stop 'A' and 'B' service water pumps
b. Close SW supply to south header valve V6-12A
c. Close SW supply to north header valve V6-12D

d. Close SW cross-connect valves V6-12B and V6-12C



RNP NRC Written Examination
Reactor Operator

Question: 2
Four Operators worked the following schedule at the RTGB position over the past six days:

HOURS WORKED (Shift turnover time not included. Do NOT assume any hours worked
before or after this period.)

OPERATOR DAY1 DAY2 DAY3 DAY4 DAYS5 DAY6

1 10 14 off 12 12 12
2 14 12 14 10 off 11
3 off off off 13 1" 14
4 11 13 14 off 11 12

Which ONE (1) of the operators would be permitted to work a 12 hour shift on Day 7
WITHOUT requiring permission to exceed normal overtime limits?

a. 1
b 2
c 3



RNP NRC Written Examination
Reactor Operator

Question: 3
Given the following conditions:
e The unit was operating at 100% power when a pipe break occurred inside containment.
e Containment pressure is rising.
e RCS temperature is lowering.
Which ONE (1) of the following differentiates between a non-isolable main feed line break
inside containment and a non-isolable main steam line break inside the containment of the
same size?

a. RCS heat removal would be greater for the steam line break

b. Containment pressure would be greater for the feed line break

c. Containment sump level would be greater for the steam line break

d. RCS depressurization would be greater for the feed line break



RNP NRC Written Examination
Reactor Operator

Question: 4
Given the following plant conditions:

The RCP Seal Injection filter has just been changed out.
HP placed the filter in a lead container.
Prior to placement of the container, R-4, Charging Pump Room Monitor, read 2 mr/hr.

The container is on a pallet outside of the Charging Pump Room.
The activity source in the filter is primarily Cobalt-60.
The container is 5 feet away from R-4 detector, and R-4 reads 10 mr/hr.

If the container is moved to 10 feet away from the R-4 detector, R-4 will indicate ...

a. 4.0 mR/hr.
b. 4.5 mR/hr.
C. 6.0 mR/hr.

d. 7.0 mR/hr.



RNP NRC Written Examination
Reactor Operator

Question: 5

Given the following conditions:

At 0110, a Reactor Trip and Safety Injection occurred following an accident.
At 0112, an Alert was declared due to RCS leakage.

At 0116, a Site Area Emergency was declared.

At 0120, a General Emergency was declared.

Which ONE (1) of the following identifies the LATEST time that the INITIAL notification to
State/County officials and the NRC must be completed?

STATE/ NRC
COUNTY
a. 0125 0210
b. 0127 0212
c. 0131 0216
d. 0135 0220




RNP NRC Written Examination
Reactor Operator

Question: 6
Given the following plant conditions:

e An emergency boration is in progress through MOV-350, BA to Charging Pmp Suct, per
FRP-S.1, “Response to Nuclear Power Generation / ATWS.”

FI-110, Boric Acid Bypass Flow, indicates 33 gpm.

FI-122, Charging Line Flow, indicates 75 gpm.

VCT level is 23 inches.

VCT Makeup is aligned for automatic operation.

Normal letdown has been isolated.

VCT level will ...
a. remain essentially unaffected.
b. decrease to the auto makeup setpoint and stabilize.

c. decrease to the low-level setpoint and cause the charging pump suction to switch to
the RWST.

d. decrease to the auto makeup setpoint and cycle between the makeup start and stop
setpoints.



RNP NRC Written Examination
Reactor Operator

Question: 7

Given the following conditions:

The unit is operating at 100% power.

APP-003-C3, PRT HI PRESS and APP-003-D3, PRT HI/LO LVL have alarmed.

PRT level and pressure are slowly increasing, but there is NO appreciable increase in
PRT temperature.

NO other annuciators are in alarm.

The PRT response is likely being caused by leakage past ...

a. PCV-455C, PZR PORV.
b. RC-551A, PZR Safety.
C. CVC-203A, High Pressure Letdown Line Relief.

d. CVC-382, Seal Water Return Line Relief.



RNP NRC Written Examination
Reactor Operator

Question: 8

Which ONE (1) of the following conditions would result in a reactor trip?

a. PT-447, First Stage Turbine Pressure, fails low with power level at 22%
b. NI-43, PR Channel N43, fails low with power level at 49%
C. PT-446, First Stage Turbine Pressure, fails high with power level at 1x10® amps

d. NI-44, PR Channel N44, fails high with power level at 1x10® amps



RNP NRC Written Examination
Reactor Operator

Question: 9

Which ONE (1) of the following describes the reason for RCP restart in FRP-P.1, "Response
To Imminent Pressurized Thermal Shock”, if the Sl termination criteria CANNOT be

satisfied?

a. Restores PZR spray to allow RCS depressurization in subsequent
steps

b. Equalizes S/G pressures to allow simultaneous cooldown of all three loops in
subsequent steps

C. Mixes Safety Injection water and RCS water to raise the fluid temperature
entering the Reactor Vessel downcomer

d. Transfer core cooling to forced flow allowing the operators to terminate Safety
Injection when the criteria are NOT satisfied



RNP NRC Written Examination
Reactor Operator

Question: 10
Given the following conditions:

e The plant has experienced a reactor trip.
e The CRSS directs the RO to manually initiate Safety Injection.
e The RO inadvertently depresses BOTH Containment Spray pushbuttons.

In addition to Containment Spray, which ONE (1) of the following are ALL expected to automatically
occur?

a. e Phase A
e PhaseB

b. e Phase A
e Containment Ventilation Isolation

c. e PhaseB
e Containment Ventilation Isolation

d. e Phase A
e PhaseB
e Containment Ventilation Isolation



RNP NRC Written Examination
Reactor Operator

Question: 11
Given the following conditions:

A power reduction is in progress from 22% due to degrading condenser vacuum.
The unit is currently at 8% power.

REACTOR TRIP FROM TURB BLOCK P-7 permissive is illuminated.
Condenser backpressure is 5.7 inches Hg Absolute and degrading slowly.

NO cause has yet been identified.

Which ONE (1) of the following actions should be taken in accordance with AOP-012,
"Partial Loss of Condenser Vacuum or Circulating Water Pump Trip"?

a. Trip the reactor and go to PATH-1

b. Trip the turbine and go to AOP-007, “Turbine Trip Without Reactor Trip Below
pP-7”

c. Trip the turbine and go to GP-006, “Normal Plant Shutdown From Power
Operations to Hot Shutdown”

d. Begin a plant shutdown in accordance with GP-008, “Normal Plant Shutdown
From Power Operations to Hot Shutdown”



RNP NRC Written Examination
Reactor Operator

Question: 12
Given the following conditions:
The plant is shutdown following a reactor trip.

RCPs are all secured.
The Inadequate Core Cooling Monitor is NOT capable of providing subcooling margin.

Primary Plant parameters indicate the following:

INSTRUMENT PARAMETER VALUE
PT-455 PZR Press 1485 psig
PT-456 PZR Press 1465 psig
PT-457 PZR Press 1515 psig
PT-402 RCS Press 1500 psig
PT-405 RCS Press 1525 psig
TI-453 PZR Temp (Surge Line) 524 °F
Ti-454 PZR Temp (Vapor) 630 °F

Ti-413 RCS Hot Leg WR Temp 538 °F
TI-423 RCS Hot Leg WR Temp 536 °F
TI-433 RCS Hot Leg WR Temp 534 °F
-- Highest Five (5) CETs 548 °F
544 °F

542 °F

542 °F

541 °F

The margin to saturation is ...

a. 46 °F.
b. 51°F.
C. 56 °F.

d. 58 °F.



RNP NRC Written Examination
Reactor Operator

Question: 13

Given the following conditions:

e A 25 year old male started working for the Operations department at H.B. Robinson on March 3™
of this year.

e He previously worked this year at Shearon Harris as part of the Maintenance department.

e His exposure for this year at the Harris plant was 1200 mRem.

e He has received NO CP&L management exposure extensions and NO emergencies exist.

Which ONE (1) of the following is the TOTAL ADDITIONAL effective dose equivalent that the
individual can receive WITHOUT management concurrence at Robinson this year?

a. 300 mRem
b. 800 mRem
cC. 2000 mRem

d. 2800 mRem



RNP NRC Written Examination
Reactor Operator

Question: 14
Given the following conditions:

e Aclearance is in effect with two (2) Maintenance department clearance holders
(Clearance Holders A and B).

e Clearance Holder A has requested a temporary lift of a portion of the clearance to test
equipment for one of the tasks.

e Clearance Holder B is NOT available on site and is NOT expected back for two (2) days.

Which ONE (1) of the following describes the process to temporarily lift the required portion
of the clearance?

a. Obtain permission of Clearance Holder A and the Control Room Shift Supervisor,
remove the tags as necessary, and reinstall the tags when complete

b. Obtain permission of Clearance Holder A and Clearance Holder B's supervisor,
remove the tags as necessary, and reinstall the tags when complete

C. Obtain permission of Clearance Holder A and the Control Room Shift Supervisor,
remove and cancel the entire clearance, and reissue a new clearance with
different boundaries

d. Obtain permission of Clearance Holder A and Clearance Holder B's supervisor,
remove and cancel the entire clearance, and reissue a new clearance with the
same boundaries when complete



RNP NRC Written Examination
Reactor Operator

Question: 15
Given the following conditions:

Fuel is in the vessel.

RCS temperature is 120°F.

It is 10 days after the shutdown.

RCS Level is 8" below the vessel flange.
RHR cooling is lost.

Using the supplied references, which ONE (1) of the following identifies how much time
remains before boiling begins occurring in the RCS?

a. 15.5 minutes

b. 22 minutes

c. 29 minutes

d. 40.5 minutes



RNP NRC Written Examination
Reactor Operator

Question: 16

Which ONE (1) of the following conditions would be REQUIRED to be entered by the
Reactor Operator in the Control Operator's Log?

a. Test data for an unsatisfactory Operations Surveillance Test
b. Entry into a Technical Specification LCO Action Statement
C. Name of on-shift person relieving an Auxiliary Operator who went home sick

d. Change in Secondary Chemistry Action Level



RNP NRC Written Examination
Reactor Operator

Question: 17

Given the following conditions:

e RCS temperature is 362 °F.
o RCS pressure is 900 psig.
e RCP pump bearing temperatures are increasing.
e RCP seal injection and seal leakoff flows are:
RCP SEAL SEAL
INJECTION LEAKOFF
‘A 5.8 gpm 1.2 gpm
‘B’ 6.7 gpm 0.9 gpm
‘C 6.5 gpm 1.3 gpm

Which ONE (1) of the following actions must be taken to permit opening CVC-307, PRI
SEAL BYP ISO?

a. Increase RCS pressure more than 100 psig
b. Lower RCS temperature more than 12 °F
c. Increase RCP 'A' seal injection more than 0.2 gpm

d. Increase RCP 'B' seal leakoff more than 0.1 gpm



RNP NRC Written Examination
Reactor Operator

Question: 18

Given the following conditions:

A Reactor Trip and Sl has occurred from an unisolable main steam line break on SG'A'.
Diagnostic actions are in progress.

SG 'A' has been isolated per EPP-11, "Faulted SG Isolation”, and is dry.

RCS temperature has been stabilized by dumping steam from the intact SGs following
the dryout of the SG'A".

Which ONE (1) of the following would be the FIRST indication to the operators that a 250
gpm tube leak has subsequently developed in SG 'A"?

a. R-31A, Main Steamline Monitor, alarming
b. SG ‘A’ pressure equalizing with RCS pressure
o Pressurizer level decreasing

d. SG 'A' level increasing



RNP NRC Written Examination
Reactor Operator

Question: 19
While performing OST-012, "Power Range Calorimetric During Power Operation (Manual)

Daily," which ONE (1) of the following will result in ACTUAL power being HIGHER THAN
INDICATED power?

a. SG Blowdown is secured prior to starting the data collection
b. MDAFW Pump 'A' is operating with flow being delivered to a SG

C. Indicated feedwater temperature used is lower than actual

d. Indicated feedwater flow used is higher than actual



RNP NRC Written Examination
Reactor Operator

Question: 20
Given the following conditions:

e Refueling Operations are schedule to commence.
e RCS Boron Concentration is currently 1825 ppm.

Which ONE (1) of the following describes the required RCS boron concentration for refueling
operations?

a. Boron concentration is adequate
b. Boron concentration must be increased by a minimum of 75 ppm
C. Boron concentration must be increased by a minimum of 125 ppm

d. Boron concentration must be increased by a minimum of 175 ppm



RNP NRC Written Examination
Reactor Operator

Question: 21
Given the following conditions:

A reactor shutdown is in progress.

APP-005-B2, N-35 LOSS OF COMP VOLT, is received.
N-35 indicates 6.0x10E-10 amps.

N-36 indicates 7.0x10E-11 amps.

N-51 indicates 80 counts.

N-52 indicates 90 counts.

Which ONE (1) of the following describes the MINIMUM action(s) required to obtain Source
Range N-31 and N-32 indication?

a. Push ONLY the "Train A Source Range Logic Trip Defeat" button

b. Push ONLY the "Train A Permissive P-6 Defeat" button

c. Push BOTH the "Train A Source Range Logic Trip Defeat” AND the "Train B
Source Range Logic Trip Defeat" buttons

d. Push BOTH the "Train A Permissive P-6 Defeat" AND the "Train B Permissive P-
6 Defeat" buttons



RNP NRC Written Examination
Reactor Operator

Question: 22

Given the following conditions:

e The unit is operating at 100% power.

e NO scheduled releases are in progress.
.

A small leak develops from the bottom of Waste Condensate Tank "A".
All ventilation systems are in a normal configuration.

An indication that would alert the operators of the accidental liquid release in progress is an
increase in the level of monitor ...

a. R-3, PASS Panel Area Monitor.

b. R-4, Charging Pump Room Area Monitor.

C. R-9, Letdown Line Area Monitor.

d. R-14C, Plant Effluent Noble Gas, Low Range Monitor.



RNP NRC Written Examination
Reactor Operator

Question: 23
Given the following conditions:
e The Control Room has filled with dense smoke from a fire on Unit 1.

e The reactor has been tripped manually by operators.
s The Control Room has been evacuated due to the dense smoke.

Which ONE (1) of the following identifies the procedure(s) that will be INITIALLY used to
stabilize the plant?

a. EOP Path-1 and EPP-004, Reactor Trip Reponse
b. DSP-002, Hot Shutdown Using the Dedicated/Alternate Shutdown System
o} AOP-004, Control Room Inaccessibility

d. GP-006, Normal Plant Shutdown from Power Operation to Hot Shutdown



RNP NRC Written Examination
Reactor Operator

Question: 24
Given the following conditions:

e The unit is operating at 40% power.

e OST-011, "Rod Cluster Control Exercise & Rod Position Indication Monthly Interval,” is
being performed.

e Annunciator APP-005-E2, ROD CONT SYSTEM URGENT FAILURE, alarms just as
Control Bank 'C' rods are being withdrawn.

Which ONE (1) of the following describes this condition and / or the actions that should be
taken?

a. e This is an expected alarm.
Continue withdrawing Control Bank 'C' rods.

b. e This makes more than one rod inoperable.
Trip the reactor and go to PATH-1.

cC. e Place the ROD BANK SELECTOR switch in Manual.
e Restore Tavg to Tref by raising turbine load.

d. o Place the ROD BANK SELECTOR switch in Manual.
e Restore Tavg to Tref by dilution.



RNP NRC Written Examination
Reactor Operator

Question: 25
Given the following conditions:

The unit was operating at 100% power.

A turbine runback is in progress.

Power is currently at 93% and lowering as the turbine runback occurs.
APP-005-D5, OTAT/OPAT TURBINE RUNBACK ROD STOP, is illuminated.
APP-004-E3, OVERTEMP AT TRIP, is illuminated.

All loop AT’s indicate less than the OTAT and OPAT setpoints.

All OTAT and OPAT bistables are extinguished.

Which ONE (1) of the following describes the actions to be taken?

a. Verify the turbine runback stops when power lowers to 90%
b. Verify the turbine runback stops when power lowers to 70%
c. Place the turbine in MANUAL due to a runback circuitry failure

d. Trip the reactor and go to PATH-1



RNP NRC Written Examination
Reactor Operator

Question: 26
Given the following conditions:

e A valid alarm has been acknowledged for R-1, Control Room Area Monitor.

e The CRSS has entered AOP-005, Radiation Monitoring System.

e Step 3 of Attachment 1 has the operator stop the HVS-1 Auxiliary Building Supply Fan
by opening the supply breaker on MCC-5.

Which ONE (1) of the following is the basis for this step?

a. Ensures that any air-flow will be from the Control Room to the Auxiliary Building

b. Ensures that the air-borne contaminants in the Control Room will be exhausted to
the Auxiliary Building for cleanup

c. Ensures that personnel in the Auxiliary Building will NOT be exposed to high
airborne activity for a prolonged period

d. Ensures that personnel in the Control Room will NOT be exposed to high radiation
condition for a prolonged period of time



RNP NRC Written Examination
Reactor Operator

Question: 27
Given the following conditions:

A large break (DBA) LOCA has occurred.

EPP-15, Loss of Emergency Coolant Recirculation, is being implemented.
One SI Pump and one RHR pump are running.

Time after trip and Sl is 20 minutes.

SI CANNOT be terminated due to insufficient subcooling.

Using the supplied references, which ONE (1) of the following states the MINIMUM Sl flow
for these conditions?
a. One RHR pump injecting, with flow manually throttled to approximately 260 gpm
b. One RHR pump injecting, with flow manually throttled to approximately 130 gpm
C. One SI pump injecting, with flow manually throttled to approximately 260 gpm

d. One S| pump injecting, with flow manually throttled to approximately 130 gpm



RNP NRC Written Examination
Reactor Operator

Question: 28

Given the following conditions:

e The unit is operating at 24% power during a plant startup.

e Rods are being withdrawn to raise RCS temperature.

e When the IN-HOLD-OUT lever is released, rods continue to step outward.
Which ONE (1) of the following actions should be taken?

a. Place the ROD BANK SELECTOR switch in Automatic and verify rod motion
stops

b. Place the ROD BANK SELECTOR switch in Manual and verify rod motion stops

C. Manually trip the reactor in anticipation of an Intermediate Range High Flux Trip
and go to PATH-1

d. Manually trip the reactor in anticipation of a Power Range High Flux (Low
Setpoint) Trip and go to PATH-1



RNP NRC Written Examination
Reactor Operator

Question: 29
A Containment Purge is in progress.
Which ONE (1) of the following will automatically terminate the purge on a high radiation
signal?
a. R-2, Containment Area
b. R-11, Containment Air and Plant Vent Particulate
c. R-14A, Plant Effluent Particulate

d. R-16, Containment HVH Cooling Water Radioactive Liquid



RNP NRC Written Examination
Reactor Operator

Question: 30
Given the following conditions:

Reactor power is 35%.

All control systems are in automatic.

Pressurizer level transmitter LT-459 is selected for control.

A small leak develops across the differential pressure bellows for LT-459, resulting in
pressure equalizing across the bellows.

Assuming NO operator actions, which ONE (1) of the following describes the instrumentation
and plant response to this leak?

LI-459 L1-460
PZR LVL PZR LVL
a. Increases Increases
b. Increases Decreases
C. Decreases Increases
d. Decreases Decreases




RNP NRC Written Examination
Reactor Operator

Question: 31

Given the following conditions:

The plant is being shutdown because of high vibrations on Condensate Pump "A".

The plant is currently at 65% power.

Two Main Feedwater Pumps, two Condensate Pumps and a Heater Drain Tank Pump are in
service.

Condensate Pump "A" trips.

Which ONE (1) of the following actions should be taken?

a. Attempt to stabilize the plant at the current power level

b. Attempt to lower turbine load at a rate between 1% minute and 5% per minute and
stablize the plant at or below 60% power

c. Attempt to lower turbine load at a rate between 1% minute and 5% per minute and
stablize the plant at or below 50% power

d. Trip the reactor and go to PATH-1



RNP NRC Written Examination
Reactor Operator

Question: 32

Given the following excerpt from OP-922, "Post Accident Containment, Hydrogen
Reduction/Venting System", and the following conditions:

e A design basis LOCA occurred 90 days ago.

e Hydrogen Concentration (Hydrogen Monitor Reading) is 2.5%.

e The H, Recombiner System is unavailable for Containment Hydrogen Reduction.

From OP-922:

"5.2.8 Determine the following data:

1. H, generation rate from Curve Book, Curve 7.16, Total Hydrogen
Generation Rate From All Sources.
- Time following DBA Days
- H; Generation Rate SCFM (Curve 7.16)
2. H, Concentration from Containment Hydrogen Monitor located in

the Control Room or from analysis of Containment samples:
- H, Concentration %
5.2.9 Calculate the required exhaust flow:
1. Qe =2400G
(9
- Qe is exhaust flow in SCFM
- G is H, Generation rate
- C is H; Concentration

Required exhaust flow SCFM

NOTE: The Containment Air Exhaust Line (PACV “B”) should be used in
preference to the Pressure Relief Line (PACV “A”).

Using the supplied references, in order to provide required exhaust flow through preferred
exhaust path (Containment Air Exhaust), Containment pressure should be raised to
approximately ...

a. 0.9 psig.
b. 1.1 psig.
C. 3.7 psig.

d. 4.6 psig.



RNP NRC Written Examination
Reactor Operator

Question: 33
Which ONE (1) of the following Fire Brigade qualified personnel would normally serve as the
Fire Brigade Team Leader in the event of a fire in the Auxiliary Building of Unit 27

a. Fire Protection Auxiliary Operator

b. WCC Senior Reactor Operator

c. Unit 1 Superintendent Shift Operations

d. Environmental & Radiation Control Supervisor



RNP NRC Written Examination
Reactor Operator

Question: 34
Given the following conditions:

The unit is operating at 100% power.

APP=081-F7, INST AIR HDR LO PRESS, has illuminated.

AOP-017, "Loss of Instrument Air", is being implemented.

Instrument air pressure currently reads 79 psig and slowly decreasing.
The Station Air Compressor is running.

SA to IA cross connect ...

a. valve, SA-5 will automatically OPEN to pass SA through the IA aftercoolers and
separators to remove contaminants prior to passing into the IA header.

b. bypass filter isolation valves, SA-220 & SA-221, will automatically OPEN to pass
SA through a filter to remove contaminants prior to passing into the IA header.

C. valve, SA-5 will be manually OPENED to pass SA through the |A aftercoolers and
separators to remove contaminants prior to passing into the IA header.

d. bypass filter isolation valves, SA-220 & SA-221, will be manually OPENED to
pass SA through a filter to remove contaminants prior to passing into the 1A
header.



RNP NRC Written Examination
Reactor Operator

Question: 35

Given the following conditions:

e The unit was operating at 100% with bank D rods at 218 steps when a failure of 'B’
inverter occurred.

e NO reactor trip occurred.

e Rods CANNOT be withdrawn.

Which ONE (1) of the following is preventing rod motion?

a. Power range flux rod stop
b. Intermediate range flux rod stop
c. Overtemperature AT rod stop

d. Overpower AT rod stop



RNP NRC Written Examination
Reactor Operator

Question: 36

Given the following conditions:

A reactor trip and S| have occurred.

Containment pressure is 2 psig.

All RCPs have been secured.

EPP-007, "SI Termination," is being implemented.
RVLIS Upper Range is 84%.

Pressurizer Level is 56%.

RCS Subcooling is 68 °F.

SI, Phase A, and Phase B have been reset.

OP-101 conditions have been met for starting an RCP.

Which ONE (1) of the following describes the conditions for starting an RCP?

a. All conditions have been met and an RCP may be started

b. Charging flow must be increased to raise RVLIS Upper Range at least an
additional 6% before an RCP can be started

c. Charging flow must be increased to raise Pressurizer Level at least an additional
19% before an RCP can be started

d. Pressure must be increased and / or the RCS must be cooled down to raise RCS
Subcooling at least an additional 6 °F before an RCP can be started



RNP NRC Written Examination
Reactor Operator

Question: 37

Given the following conditions:

Unit 2 is in mid loop operation to repair a S/G primary manway leak.
The RCS is vented by two hot leg vents.

RCS level is -71" and rising very slowly.

RHR pump 'A'is in service at 3000 gpm.

The operator notices that RHR flow and pressure is oscillating.

Which ONE (1) of the following actions would tend to stabilize RHR flow and pressure?

a. Start the RHR pump 'B' at 3000 gpm

b. Lower charging flow to stabilize RCS level
c. Lower RHR pump ‘A’ flow

d. Open the RV head'vents



RNP NRC Written Examination
Reactor Operator

Question: 38

Given the following conditions:

The unit is operating at 100% power.

'B' EDG is under clearance to repair a leaky oil fitting.

A tornado touches down in the switchyard.

The transient resulting from the destruction causes a Phase Differential on the Main
Generator.

The Startup Transformer (SUT) is destroyed by the tornado.

'A' EDG is unable to start due to a faulty air lineup.

e After the initial transient, it is noted that BOTH of the Reactor Trip breaker indications are
RED.

Which ONE (1) of the following describes the required operator action(s)?

a. Enter FRP-S.1, "Response to Nuclear Power Generation / ATWS," due to the ATWS
b. Enter PATH-1 due to the turbine trip and then FRP-S.1 due to the ATWS
c. Enter EPP-001, "Loss of All AC Power," due to the electrical conditions

d. Enter FRP-S.1 due to the ATWS, then EPP-001 due to the electrical conditions



RNP NRC Written Examination
Reactor Operator

Question: 39

Given the following conditions:

e A makeup to the Component Cooling Water (CCW) Surge Tank is being performed.
e (C-832, CC SURGE TANK MAKE-UP VALVE, is stroked full open.
e When tank level is 50%, the operator momentarily places the switch for CC-832 to close.

Assuming NO other operator actions are taken, which ONE (1) of the following describes the
response of the CCW Surge Tank level?

a. CCW Surge Tank level will continue to rise to approximately 55% due to the
stroke time of the valve

b. CCW Surge Tank level will stabilize at approximately 50%

C. CCW Surge Tank level will continue to rise to approximately 55% when the high
level alarm will automatically close the valve

d. CCW Surge Tank level will eventually overflow out the vent valve



RNP NRC Written Examination
Reactor Operator

Question: 40

Given the following conditions:

e RCS pressure is 1805 psig and decreasing.

e RCS temperature is 525 °F and decreasing.

e Tavgis 537°F and decreasing

e Steam Generator pressures and Steam Flows are:
SG PRESSURE STEAM FLOW
‘A’ 626 psig and decreasing 1.7 x 10° lom/hr
‘B’ 745 psig and stable 0.05 x 10° Ibm/hr
‘C’ 740 psig and stable 0.05 x 10° Ibm/hr

Which ONE (1) of the following Safety Injection signals would be actuated?

a. High Steamline AP
b. Low Pressurizer Pressure
C. High Steam Line Flow with Low Tavg

d. High Steam Line Flow with Low Steam Line Pressure
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Question: 41
Given the following conditions:
Power has been lost to Containment Pressure channel 954,

Containment Pressure transmitter PT-950 has failed low.
NO actions in OWP-032, “Containment Pressure,” have been performed.

A large break LOCA occurs and actual Containment Pressure reaches 21 psig.

2/3 2/3
Hi-Hi Hi-Hi

Which ONE (1) of the following describes the response of the Containment Spray system?

a. NEITHER train of Containment Spray will automatically actuate
b. ONLY Train 'A' of Containment Spray will automatically actuate
c. ONLY Train 'B’ of Containment Spray will automatically actuate

d. BOTH trains of Containment Spray will automatically actuate
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Question: 42
Given the following conditions:

The unit is operating at 100% power.
Normal letdown is in service.
Pressurizer level control is in automatic

Leakage passed the hydrogen pressure regulator to the VCT causes pressure in VCT to
increase.

Which ONE (1) of the following describes the effect of this on RCP seal flow?

No. 1 SEAL No. 2 SEAL
LEAKOFF LEAKOFF
FLOW FLOW
a. Increases Increases
b. Decreases Decreases
c. Decreases Increases
d. Increases Decreases




RNP NRC Written Examination
Reactor Operator

Question: 43

Given the following conditions:

e A reactor trip occurred from 20% power.

e Coincident with the reactor trip, 480V Bus E-1 deenergized and was subsequently

energized by the EDG.
e Twenty (20) seconds following the trip, SG levels are:

SG LEVEL
‘A 12%
‘B’ 28%
‘C 26%

Which ONE (1) of the following describes the expected condition of the Auxiliary Feed Water
pumps 20 seconds following the trip?

MDAFW MDAFW SDAFW

PUMP ‘A’ PUMP 'B' PUMP

Running Running Off
Off Running Running
Off Running Off
Off Off Running
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Question: 44
Given the following conditions:
The plant is operating at 50% power.

All control systems are operating in automatic.
The First Stage Pressure Channel Selector switch is aligned to the PT-447 position.

First Stage Pressure Transmitter PT-446 fails low.

Which ONE (1) of the following plant reponses is expected?

a. Feedwater Regulating Valves throttle closed
b. Control Rods step inward
c. Automatic rod control is blocked

d. Steam Dumps have a demand signal
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Question: 45

Given the following conditions:

e Due to low heat loads and extremely cold outside temperatures, Spent Fuel Pool (SFP)
water temperature is 65°F.

e CC-775, CC FROM SPENT FUEL PIT HX BUTTERFLY Valve, has been throttled to the
maximum allowed closed position.

Which ONE (1) of the following actions should be taken to raise Spent Fuel Pool water

temperature?
a. Place the SFP on recirc to the RWST
b. Throttle the discharge valve of the in-service SFP Cooling pump

C. Shutdown the in-service SFP Cooling pump

d. Start an additional SFP Cooling pump
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Question: 46

Given the following conditions:

The plant is operating at 68% power.

Power Range channel N-43 is out of service for repairs.

N-43 has been removed from service in accordance with the OWP.
While working on N-43, the technician causes the Control Power fuses to blow.

Which ONE (1) of the following describes the effect of this on the plant?

a. NO effect since the OWP places the DROPPED ROD MODE switch in the
"Bypass" position

b. NO effect since the Dropped Rod Runback requires two-of-four (2/4) coincidence
to actuate

C. The turbine will runback for 9 seconds at 200% per minute

d. The turbine will runback at a cyclic rate of 200% per minute
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Question: 47

Given the following conditions:

A LOCA has occurred inside containment.

Due to electrical problems an entry was made to EPP-15, "Loss of Emergency Coolant
Recirculation.”

One (1) Containment Spray pump was operating upon exiting EPP-15, with containment
pressure at 16 psig.

Subsequently, an entry was made to FRP-J.1, "Response to High Containment
Pressure," due to containment pressure being at 14 psig and lowering slowly.

Which ONE (1) of the following describes the actions that are to be taken regarding the
Containment Spray system?

a. Return to EPP-15 to determine Containment Spray system requirements
b. Stop the running Containment Spray pump
c. Maintain the current Containment Spray system configuration

d. Start the second Containment Spray pump
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Question: 48
Given the following conditions:

A recovery from a small break LOCA is in progress.

NO RCPs are running.

EPP-008, "Post-LOCA Cooldown and Depressurization," is being implemented.
Depressurization of the RCS has commenced.

Pressurizer level has just risen rapidly from off-scale low to 50%.

The depressurization of the RCS has ...

a. increased RHR and SI flow, which is rapidly refilling the pressurizer.

b. caused voiding to occur in the reactor vessel head, which is rapidly refilling the

pressurizer.
c. increased auxiliary spray flow, which is rapidly refilling the pressurizer.
d. caused voiding in the pressurizer level reference leg, which is providing an

indication of rapidly increasing pressurizer level.



Question: 49

Given the following conditions:

e The unit is operating at 100% power.
e Rod Control is in Manual.
e A safety valve fails open on SG 'B'.
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Which ONE (1) of the following describes the INITIAL effect on indicated power and RCS

Tavg?
INDICATED NIS RCST-AVG
POWER
a. Increases Remains Relatively
Constant
b. Increases Decreases
C. Remains Relatively | Remains Relatively
Constant Constant
d. Remains Relatively Decreases

Constant
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Question: 50
Given the following conditions:
e The unit is operating at 85% power.

e Control Rod Bank 'D' Demand is at 195 steps.
« |IRPI indication for Bank D Control Rods are as follows:

ROD POSITION

D-8 123"
M-8 121
H-4 120"
H-8 110"
H-12 122"

Design power peaking and Shutdown Margin Limits ...

a. are met under these conditions.
b. will be met if Control Rod H-8 is withdrawn to 115",
C. will be met if power is reduced below 80%.

d. will be met if Control Rod D-8 is inserted to 120"
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Question: 51
Given the following conditions:

e A reactor trip and safety injection have occurred.

e Due to multiple failures, an entry has been made to EPP-16, "Uncontrolled
Depressurization of All Steam Generators."

e Containment pressure is 8 psig.
The RCS cooldown rate is 130 °F/hour.

o SGlevels are:

SG LEVEL
A 1%
‘B’ 3%
‘C’ 14%

Which ONE (1) of the following actions should be taken?

a. Secure all AFW to 'A' and 'B' SGs, while feeding 'C' SG at a rate between 80 gpm
and 90 gpm using a MDAFW pump

b. Secure all AFW to 'A' and 'B' SGs, while feeding 'C' SG at a rate between 80 gpm
and 90 gpm using the SDAFW pump

C. Feed 'A' and 'B' SGs at a rate between 80 gpm and 90 gpm, while feeding 'C' SG
only as needed to maintain the RCS cooldown rate below 100 °F/hour

d. Feed all SGs at a rate between 80 gpm and 90 gpm
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Question: 562

Given the following conditions:

The unit is operating at 100% power.

Testing is being performed on Reactor Trip Breaker ‘B’ and it is currently open.

A loss of the ‘A’ 125 VDC Distribution Panel occurs.
Reactor Trip Breaker ‘A’ fails to open.

Which ONE (1) of the following describes the expected response of the plant due to this
sequence of events, assuming NO operator action?

a. NO reactor trip occurs

b. Reactor Trip Bypass Breaker ‘B’ opens on an Undervoltage trip ONLY, resulting in
a reactor trip

c. Reactor Trip Bypass Breaker ‘B’ opens on a Shunt trip ONLY, resulting in a
reactor trip

d. Reactor Trip Bypass Breaker ‘B’ opens on BOTH an Undervoltage trip and a
Shunt trip, resulting in a reactor trip
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Question: 53
Given the following conditions:

e The unitis in Hot Standby.
e A change in boron concentration from 500 ppm to 470 ppm is required.

Using the supplied references, which ONE (1) of the following identifies approximately how many
gallons of primary water must be added to make this change?

a. 70 gallons
b. 90 gallons

C. 3000 gallons
d. 4500 gallons



Question: 54

Given the following conditions:

e Unit 2 is being ramped to 100% following a refueling outage.

e The following Plant Parameters are noted:

PARAMETER

Loop ‘A’ Tavg

Loop ‘B’ Tavg

Loop ‘C’ Tavg

NI-41

NI-42

NI-43

Ni-44

Loop ‘A’ AT

Loop ‘B’ AT

Loop ‘C’' AT

Loop ‘A’ Steam Flow
Loop ‘B’ Steam Flow
Loop ‘C’' Steam Flow
Loop ‘A’ Feed Flow
Loop ‘B’ Feed Flow
Loop ‘C’ Feed Flow
1% Stage Press (446)
1°* Stage Press (447)
Generator Output

VALUE

576°F

575°F

576°F

100.0%

99.0%

99.0%

100.0%

58.2°F

57.8°F

58.2°F

3.40 x 10° lbm/hr
3.40 x 10° Ibm/hr
3.45 x 10° lom/hr
3.40 x 10° Iom/hr
3.40 x 10° Ibm/hr
3.50 x 10° tbm/hr
545 psig

546 psig

730 Mwe

Using the supplied references, reactor poweris ...
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a. 99.5%. The power ramp may continue until the plant is at 100%.

b. 99.5%. Power should be held constant to perform a calorimetric.

C. greater than 100%. Power should be held constant to perform a calorimetric.

d. greater than 100%. Power should be immediately lowered.
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Question: 55

Given the following conditions:

e A Temporary Change (TC) to Revision 44 of OP-305, Boron Recycle Process, was
issued on March 1, 2001.

e Revision 45 of OP-305 was issued on March 6, 2001.

e The Temporary Change was NOT incorporated into Revision 45, but was cancelled and
subsequently reissued (using a new TC number) with the issuance of Revision 45.

The Temporary Change now expires on ...

a. March 15, 2001.
b. March 20, 2001.
C. March 22, 2001.
d. March 27, 2001.
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Question: 56

Given the following conditions:

The plant is operating at 43% power.

An electrical transient causes a momentary underfrequency condition on 4 KV Bus 1.
Moments later, an undervoltage condition is also sensed on 4 KV Bus 1.

The RCP powered from 4 KV Bus 1 trips.

The other two RCPs remain running.

Which ONE (1) of the following identifies the signal which DIRECTLY generated the reactor trip?

a. Bus underfrequency
b. Bus undervoltage
c. Low flow

d. Pump breaker trip



Question: 57

Given the following conditions:

An inadvertent reactor trip and safety injection have occurred.
The S| and Phase A signals have just been reset.
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Which ONE (1) of the following describes the expected position of the Normal and
Emergency Inlet Dampers for the Containment Air Recirculation Fans (HVH-1 through 4)
following resetting of these signals?

NORMAL INLET EMERGENCY
DAMPERS INLET DAMPERS
Open Open
Open Closed
Closed Open
Closed Closed
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Question: 58

Given the following conditions:

e The unit has experienced a loss of off-site power.

e The reactor trip and turbine trip have been verified.

e EPP-1, "Loss of ALL AC Power," was implemented until the inside AQO restored power to
480V Bus E-2 per Attachment 6 of EPP-1.

e A transition has been made back to PATH-1.
e Sl has NOT occurred and is NOT required.

Which ONE (1) of the following describes how power will be supplied to the Charging

Pumps?

FROM 'B' EDG | FROM DSDG

a. Charging Pump | Charging Pump
IBI IAI

b. Charging Pump | Charging Pump
IC' IBI

c. Charging Pump | Charging Pump
IBI IC’

d. Charging Pump | Charging Pump
lCI lAl
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Question: 58

Given the following conditions:

e The unit is experiencing a loss of all feedwater event and FRP-H.1, "Response to Loss
of Secondary Heat Sink," has been entered.
e NO AFW flow is available.

e Containment pressure is 0.4 psig.
Which ONE (1) of the following describes when the operator is required to trip the RCPs and
immediately initiate feed and bleed?
a. Five highest core exit TC temperatures are 658 °F, 656 °F, 649 °F, 648 °F, and
645 °F and are all rising
b. RCS hot leg temperatures are 652 °F, 646 °F, and 648 °F and are all rising

c. Pressurizer levels are indicating 93%, 97%, and 94% and are all stable

d. SG wide range levels are 18%, 22%, and 36% and are all stable
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Question: 60

Given the following conditions:

A unit trip and safety injection have occurred due to a SGTR on ‘A’ SG.

EPP-012, "Post-SGTR Cooldown using Backfill," is being implemented.

RCS pressure is 940 psig.

It has been determined that the accumulators should be isolated.

The breakers for the accumulator discharge valves (SI-865A, B, C) have been closed.
The 'A’ accumulator discharge valve (SI-865A) loses light indication after it is given a
closed signal.

'B' and 'C' accumulator valves stroke closed as expected.

Which ONE (1) of the following actions should be taken regarding 'A" accumulator?

a. Slow the rate at which the RCS is being depressurized to allow a controlied
injection of the accumulator

b. Drain the accumulator to the Reactor Coolant Drain Tank
C. Vent the accumulator to Containment atmosphere
d. Maintain RCS pressure above 800 psig until a Containment entry can be made to

locally close the discharge valve
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Question: 61
Given the following conditions:

e A licensed operator who has an inactive license has been performing administrative
duties in the Training Section for twelve (12) months.

e He is returning to Operations and is to be placed back on shift.

e Al licensed operator continuing training and fire brigade qualifications are current.

Which ONE (1) of the following are the additional MINIMUM requirements for returning his
license to an active status?

a. Complete FOUR normal shifts, including shift turnovers IAW plant procedures,
before and after each watch, and review all the procedure changes for the past
three (3) months

b. Complete FOUR normal shifts, including shift turnovers IAW plant procedures,
before and after each watch, and conduct a complete plant tour

c. Complete FIVE normal shifts, including shift turnovers IAW plant procedures,
before and after each watch, and review all the procedure changes for the past
three (3) months

d. Complete FIVE normal shifts, including shift turnovers IAW plant procedures,
before and after each watch, and conduct a complete plant tour
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Question: 62
Given the following conditions:

The unit is operating at 100% power.
RCS Tavg is 575.4°F.

PZR level is 53%

VCT level is 23" and stable.
Letdown flow is 45 gpm (FI-150).
RCP seal injection flows are:

RCP SEAL INJ

‘A 8.3 gpm
‘B’ 7.9gpm
‘C’ 7.8 gpm

Which ONE (1) of the following would be the expected flow indication on FI-122A, Charging
Header Flow, assuming NO RCS leakage?

a. 21 gpm
b. 30 gpm
C. 36 gpm

d. 54 gpm
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Question: 63

The following personnel are entering the RCA to perform plant related activities:

1. Two operators doing a valve lineup in the RCA expect to receive a dose of about 125 mrem each.
2. Operators doing routine radwaste processing.

3. Electrical maintenance workers cleaning and inspecting an MCC breaker in the RCA.
Which ONE (1) of the following identifies ALL of the above activities which can be performed using a
General RWP in accordance with HPP-006, "Radiation Work Permits"?

a. 1and 2 ONLY

b. 1 and 3 ONLY

c. 2and 3 ONLY

d. 1,2,and 3
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Question: 64

Given the following conditions:

The unit was operating at 100% power.

All IRP! indication fails to zero with NO rod bottom bistable lights.

A Turbine Runback to 70% has occurred.
APP-005-A3, PR DROP ROD ROD STOP, is illuminated.

Which ONE (1) of the following procedures should be used to mitigate this plant transient?

a. AOP-001, Malfunction of Reactor Control System
b. AOP-015, Secondary Load Rejection or Turbine Runback
C. AOP-024, Loss of Instrument Buses

d. AOP-025, RTGB Instrument Failures
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Question: 65
Given the following conditions:

e Aline break caused the Fire Header pressure to drop.
e Fire Header pressure eventually stabilized at 83 psig.

Which ONE (1) of the following expected fire system responses would have resulted in this
condition?

a. The Electric Fire Pump automatically started, then the Diesel Fire Pump
automatically started.

b. The Electric Fire Pump automatically started and the Diesel Fire Pump remained
in standby.

C. The Diesel Fire Pump automatically started, then the Electric Fire Pump
automatically started.

d. The Diesel Fire Pump automatically started and the Electric Fire Pump remained
in standby.
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Question: 66
Given the following conditions:

e Emergency Diesel Generator 'A' is in the process of being started on Unit 2 to parallel it
to the E-1 Bus.

e A "Remote Manual Slow Speed Start" is being performed in accordance with OP-604,
"Diesel Generators A and B."

Which ONE (1) of the following describes the operation of the diesel generator voltage
control during this evolution?

a. The Voltage Regulator will automatically control voltage between 470 VAC and
490 VAC during the entire start after the field is automatically flashed at 200 RPM.

b. The Voltage Regulator must be manually shutdown after the field is automatically
flashed at 200 RPM, and will be automatically reinstated when engine speed is
above 900 RPM to control voltage between 470 VAC and 490 VAC.

C. The Voltage Regulator will be automatically shutdown 5 seconds after the field is
flashed at 200 RPM if engine speed does NOT reach 900 RPM, and must be
manually reinstated when engine speed is above 900 RPM to control voltage
between 470 VAC and 490 VAC.

d. The Voltage Regulator must be manually shutdown after the field is automatically
flashed at 200 RPM, and must be manually reinstated when engine speed is
above 900 RPM to control voltage between 470 VAC and 490 VAC.
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Question: 67
Given the following conditions:

The unit is in Hot Standby.

All systems are operating normally.

SG "A" PORV is closed.

SG "A" PORV automatic potentiometer is adjusted from "3.10" to "1.50".

Which ONE (1) of the following describes the effect adjusting the potentiometer will have on the
PORV?

SETPOINT PORV
a. Increases Opens
b. Decreases Opens
c. increases Remains
Closed
d. Decreases Remains
Closed
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Question: 68
Given the following conditions:

A small break LOCA has occurred.

Entry has been made into FRP-C.1, "Response to Inadequate Core Cooling."
CETs are all indicating between 740 °F and 760 °F and rising slowly.

RCS pressure has stabilized at 1605 psig.

PZR level is off-scale low.

RVLIS Full Range is indicating 39% and lowering slowly.

Charging flow is NOT available.

SG pressures are all between 360 psig and 400 psig.

Which ONE (1) of the following actions should be taken?

a. Dump steam to cooldown and depressurize the RCS to provide Safety Injection
flow

b. Open the RCS Vent System valves to depressurize the RCS to provide Safety
Injection flow

o} Start an RCP immediately to provide forced cooling flow

d. Open the PZR PORVs to depressurize the RCS to provide Safety Injection flow
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Question: 69
Given the following conditions:

e The unitis at operating at 35% power in preparation for increasing power to 100%.
e Circulating Water Pump 'A’ is under clearance for maintenance.
e A fault occurs on 4KV Bus #4 and all loads are lost.

Which ONE (1) of the following describes the effect on the turbine to the above conditions?

a. The turbine will NOT automatically trip, but must be manually tripped when
condenser back pressure increases to 5.5" HgA

b. The turbine will automatically trip due to all 3 Circulating Water Pump breakers
being open

C. The turbine will automatically trip when condenser back pressure increases to
10" HgA unless load is lowered to within the capacity of the one remaining
Circulating Water Pump

d. The turbine will NOT automatically trip due to load already being within the capacity
of the one remaining Circulating Water Pump
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Question: 70
Given the following conditions:

e The unit is operating at 2% power.
e The following RCP indications are observed:

INDICATION RCP ‘A’ RCP ‘B’ RCP ‘C’
Motor Bearing  210°F and T slowly ~ 180°F and stable ~ 195°F and T slowly
Temperatures
#1 Seal Leakoff  150°F and stable 150°F and stable ~ 165°F and T slowly
Temperatures
#1 Seal Leakoff 5.8 gpm and stable 4.2 gpm and stable 3.8 gpm and stable
Flow
Thermal Barrier 10" and stable 10" and stable 8" and stable
AP
Frame Vibration 3.6 milsandT at 2.8 mils and stable 4 mils and T at
0.1 mil per hr 0.05 mil per hr

Shaft Vibration 12 mils and stable 7 mils and stable 95 milsand T at
0.6 mils per hour

Which ONE (1) of the following describes the actions required for this condition?

a. Stop 'A' RCP and enter Technical Specification 3.4.4, RCS Loops - Modes 1 & 2
b. Trip the reactor, stop 'A' RCP, and go to PATH-1
c. Stop 'C' RCP and enter Technical Specification 3.4.4, RCS Loops - Modes 1&2

d. Trip the reactor, stop 'C' RCP, and go to PATH-1
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Question: 71

Which ONE (1) of the following requires entry into DSP-001, "Alternate Shutdown
Diagnostic™?

a. A fire in the Main Turbine that has the potential to destroy the generator when the
reactor is above 10% power

b. A fire in the Containment Vessel that has the potential to destroy the pressurizer
heater power cables when in hot standby

c. A fire in the Control Room that has the potential to destroy RHR pump control
cables when refueling

d. A fire in the Auxiliary Building that has the potential to destroy the running
Charging Pump when in cold shutdown
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Question: 72

CC-707, Component Cooling Water Surge Tank relief valve, is sized to accommodate the ...

a. maximum CCW insurge to the tank resulting from a loss of the Residual Heat Removall
system.

b. maximum flowrate associated with a rupture of a Reactor Coolant Pump Thermal Barrier
Heat Exchanger.

C. maximum CCW insurge to the tank resulting from a loss of the Service Water
system.
d. maximum flowrate associated with a rupture of a Residual Heat Removal pump cooler

during the recirculation phase of an accident.
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Question: 73
Which ONE (1) following procedures is used to provide instructions in the event of a cask
drop when loaded with spent fuel in Dry Shielded Canister (DSC)?

a. AOP-005, Radiation Monitoring System

b. AOP-008, Accidental Release of Liquid Waste

c. AOP-013, Fuel Handling Accident

d. AOP-028, ISFSI Abnormal Events
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Question: 74

Given the following conditions:

The unit is in Mode 2.

PZR level transmitter LT-460 failed low and was removed from service.

The PZR high-high level and low level bistables associated with LT-460 were placed in
the TRIPPED condition.

PZR level channel selector switch LM-459 was selected to "461 REPL 460".

Which ONE (1) of the following describes the function provided by PZR level transmitter LT-
461 under these conditions?

a. Energizes the backup heaters on a high level deviation
b. Decreases charging pump speed on an increasing level
C. Deenergizes the proportional and backup heaters on a low level

d. Trips the reactor on a high-high level
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Question: 75
Given the following conditions:

e Reactor power was initially 100%.
e All CCW flow has been lost to the RCPs and a reactor trip has been initiated.

Which ONE (1) of the following nuclear instrument indications would warrant entry into
FRP-S.1, "Response To Nuclear Power Generation/ATWS"?

a. BOTH source range channels are energized and intermediate range startup rate
is +0.1 dpm

b. Power range indicates 3%

C. Source range startup rate is +0.3 dpm

d. NEITHER source range channel is energized and intermediate startup rate

is -0.1 dpm
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Question: 76

Given the following plant conditions:

e Following a refueling outage, the unit is being raised to 100% power.

e Reactor Engineering has NOT implemented any power ramp rate limitations other than

those stated in GP-005, "Power Operation."

Which ONE (1) of the following power changes would violate the power ramp rate limitations
identified in GP-0057?

a. Raising power from 7% to 14% over a 3-minute period
b. Raising power from 31% to 36.6% over a 1-hour period
c. Raising power from 62% to 65.8% over a 1-hour period

d. Raising power from 93% to 96.2% over a 1-hour period
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Question: 77

Given the following conditions:

The reactor has tripped from 100% power due to a feed line break.
Sl has been actuated.

AFW pumps are supplying feed to the SGs.

Immediate operator actions are complete.

Foldout A has been implemented.

The Outside AO reports a large leak at the CST.

Which ONE (1) of the following describes the available backup sources to the AFW Pump Suction?

PREFERRED | ALTERNATE
BACKUP BACKUP
Service Water | Deepwell Water
Service Water Fire Water

Deepwell Water Fire Water
Fire Water Service Water
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Question: 78
Given the following conditions:

A turbine runback has occurred from 100% to 70% power.
RCS Tavg is 567 °F.

PZR Pressure is 2265 psig.

PZR Level is 51%.

Which ONE (1) of the following describes the expected condition of the proportional heaters
and pressurizer spray valves?

PROPORTIONAL | SPRAY VALVES

HEATERS
a. On Open
b. On Closed
C. Off Open

d. Off Closed
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Question: 79

Following an accident, FRP-C.2, "Response to Degraded Core Cooling," is being
impiemented.

After the performance of several steps in FRP-C.2, the following Critical Safety Function
Status Tree (CSFST) conditions are noted:

Integrity - RED

Core Cooling - RED
Containment - ORANGE
Heat Sink - YELLOW
Subcriticality - YELLOW
Inventory - YELLOW

Which ONE (1) of the following describes which action should be taken by the CRSS?

a. Remain in FRP-C.2, "Response to Degraded Core Cooling," until completion and
then recheck the CSFSTs

b. Transition to FRP-C.1, "Response to Inadequate Core Cooling" due to the RED
condition on Core Cooling

C. Transition to FRP-P.1, "Response to Imminent Pressurized Thermal Shock," due
to the RED condition on Integrity

d. Transition to FRP-J.1, "Response to High Containment Pressure,” due fo the
ORANGE condition on Containment
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Question: 80

Given the following conditions:

e A reactor trip has occurred from 100% power.
e All SGs levels indicate 6%.

Upon initiation of AFW, which ONE (1) of the following correctly describes the automatic
response of the AFW system to these conditions?

a. The normally closed MDAFW pump discharge flow control valves (FCV 1424 and
1425) fully open

b. The normally open SDAFW pump discharge flow control valve (FCV 6416)
throttles closed

C. The normally closed SDAFW pump discharge flow control valve (FCV 6416)
throttles open

d. The normally open MDAFW pump discharge flow control valves (FCV 1424 and
1425) throttle closed



RNP NRC Written Examination
Reactor Operator

Question: 81
Given the following conditions:

e The unit is operating at 100% power.
e Channel lll PZR Pressure PT-457 is failed, with all bistables in the TRIPPED condition.
e An electrical fault occurs which results in a loss of Instrument Bus 2.

Which ONE (1) of the following describes the impact that the loss of Instrument Bus 2 has
on the plant?

a. A reactor trip and Sl occur and BOTH trains of Engineered Safeguards loads are
automatically started by the sequencers

b. A reactor trip and Sl occur, but ONLY Train 'A' Engineered Safeguards loads are
automatically started by the sequencers

c. A reactor trip and Sl occur, but ONLY Train 'B' Engineered Safeguards loads are
automatically started by the sequencers

d. A reactor trip occurs, but NO Si occurs.



RNP NRC Written Examination
Reactor Operator

Question: 82
Given the following conditions:

e The plant is in Hot Shutdown.
e Aloss of 4KV Bus 2 occurs.

Which ONE (1) of the following identifies plant equipment that is affected by the power loss?
a. e Reactor Coolant Pump 'B'
e Station Service Transformer 2B

b. e Reactor Coolant Pump 'C'
e Station Service Transformer 2A and 2F

c. e Main Feedwater Pump 'B'
e Station Service Tranformer 2D

d. e Main Feedwater Pump 'B'
Reactor Coolant Pump 'C'



RNP NRC Written Examination
Reactor Operator

Question: 83
In accordance with AOP-032, "Response To Flooding From The Fire Protection System,"
the concern for a fire water break in containment is ...

a. the adverse affects on safeguards equipment.

b. the thermal stress effects of water coming in contact with the reactor vessel.

c. the adverse impact on the instrumentation associated with systems in
containment.

d. the unanalyzed dilution caused by the water in the event of a LOCA.



RNP NRC Written Examination
Reactor Operator

Question: 84

Given the following conditions:

e Inverter 'C, is being shut down in accordance with OP-601, "DC Supply System."

e The N-43 DROPPED ROD MODE switch is placed in the BYPASS position prior to
aligning PP-26 to its alternate supply (I1B-3).

Which ONE (1) of the following describes the consequences of failing to place the switch in

the BYPASS position?
a. A turbine runback may occur due to an Instrument Bus transient
b. A reactor trip and safety injection may occur due to an Instrument Bus transient
c. The inverter power supply breaker may trip open

d. The backup power supply breaker may trip open when attempting to close



RNP NRC Written Examination
Reactor Operator

Question: 85
Given the following conditions:

e A batch release of Waste Condensate Tank 'E' is scheduled to be performed.
e The Waste Condensate Recirc Pump is out-of-service.

Waste Condensate Tank ‘E’ ...

a. can be recirculated after transferring to Waste Condensate Tank ‘C’.
b. CANNOT be recirculated unless transferred to Waste Condensate Tank ‘D'
C. can be recirculated using Waste Condensate Pump ‘B’.

d. CANNOT be recirculated until the Waste Condensate Recirc Pump is repaired.



RNP NRC Written Examination
Reactor Operator

Question: 86
Given the following conditions:

e The plant is being started up with the Feed Water Regulating Valves and Feed Water
Regulating Bypass Valves all open.

e A Reactor Trip occurs.

e RCS Tavg stabilizes at no load Tavg.

e The Feed Water Regulating Valves automatically close.

Which ONE (1) of the following identifies the expected position of the Feed Water
Regulating Bypass Valves (FRBVs) and the Feed Water Block Valves (FBVs)?

FRBVs FBVs
a. Open Open
b. Open Closed
C. Closed Open
d. Closed Closed




RNP NRC Written Examination
Reactor Operator

Question: 87
Given the following conditions:
e A small break LOCA has occurred.
e Dueto p_roblems with the Containment Cooling system, containment pressure increased
. f:ftz.:eﬁ;gt;lishing proper operation of the Containment Cooling system, containment
pressure has been lowered to 3.2 psig.
e A step in one of the EPPs states:
"Depressurize RCS To Minimize RCS Leakage:
c. Check EITHER of the following:
PZR LEVEL - GREATER THAN 71% [60%)]
OR
RCS SUBCOOLING - LESS THAN 45 °F [65 °F]
d. Stop RCS depressurization™

e As the RCS is being depressurized, PZR level is noted to be 62% and RCS Subcooling
is 76 °F.

The RCS depressurization should ...

a. be stopped immediately.
b. continue until PZR level exceeds 71%.
c. continue until RCS subcooling drops below 65 °F.

d. continue until RCS subcooling drops below 45 °F.



RNP NRC Written Examination
Reactor Operator

Question: 88

Given the following conditions:

e The unit is in Hot Shutdown.

e The Startup Transformer (SUT) is supplying all 4KV buses.
e A severe short has resulted in a loss of the 'B' DC Bus.

Which ONE (1) of the following describes the response of the emergency diesel generators
(EDG's)?

EDG'A’ EDG'B’
a. Starts, but field | Does NOT start
fails to flash
b. Does NOT start | Starts, but field
fails to flash
C. Starts and loads | Starts, but does
NOT load
d. Starts, but does | Starts and loads
NOT load




RNP NRC Written Examination
Reactor Operator

Question: 89
Given the following conditions:
e The plant is operating at 20% power.
e Control Bank "D" Step Counters indicate 198 steps.
e A check of the Rod Position indications for Control Bank "D" shows the following rod
positions:
D8 at 124"
M8 at 116"
H4 at 120"
H8 at 121”
H12 at 131"

Which ONE (1) of the following describes the status of the rods in Control Bank ‘D'?

a. BOTH rods M8 and H12 are misaligned from the bank
b. ONLY rod M8 is misaligned from the bank
c. ONLY rod H12 is misaligned from the bank

d. All rods are within rod alignment limits



RNP NRC Written Examination
Reactor Operator

Question: 90

Given the following condiditons:

e Pressurizer pressure transmitter PT-457 has failed low and is being removed from
service in accordance with the OWP.

e The OWP requires the low pressure bistables in the Hagan racks be placed in the
TRIPPED condition.

Which ONE (1) of the following describes the verification required for this function?

a. NO verification is required
b. Independent verification
c. Concurrent verification

d. Functional verification



Question: 91
Given the following conditions:

The unit has just experienced a reactor trip.
NO SI equipment has actuated.

One (1) turbine stop valves is shut.

Three (3) turbine governor valves are shut.
RCS pressure is 1860 psig.

Tavg is 542°F.

All MSIVs are open.

SG Pressures and Steam Flows are:

SG PRESSURE STEAM FLOW

‘N 925 psig 0.1 x 10° lbm/hr
‘B’ 935psig 0.1 x 10° Ibm/hr
‘C’ 845psig 1.3 x 10° bbm/hr

The reactor is tripped, the turbine is ...

a. tripped, and Sl is NOT required.

b. tripped, and Sl is required.

C. NOT tripped, and Sl is NOT required.
d. NOT tripped, and Sl is required.

RNP NRC Written Examination
Reactor Operator



RNP NRC Written Examination
Reactor Operator

Question: 92
Given the following conditions:

A reactor trip occurred due to a loss of offsite power.

The plant is being cooled down on RHR per EPP-005, "Natural Circulation Cooldown."
RVLIS upper range indicates greater than 100%.

Both CRDM fans have been running during the entire cooldown.

RCS cold leg temperatures are 190 °F.

Steam generator pressures are 50 psig.

Steam should be dumped from all SGs to ensure ...

a. boron concentration is equalized throughout the RCS prior to taking a sample to
verify cold shutdown boron conditions.

b. all inactive portions of the RCS are below 200 °F prior to complete RCS

depressurization.
C. RCS and SG temperatures are equalized prior to any subsequent RCP restart.
d. RCS temperatures do NOT increase during the required 29-hour vessel soak

period.



RNP NRC Written Examination
Reactor Operator

Question: 93
Given the following conditions:
e The unit is operating at 100% power.
e Arelease is in progress from Waste Gas Decay Tank 'A’.
e Aloss of Instrument Bus 3 occurs, requiring termination of the release.
Which ONE (1) of the following describes how the release is terminated as a result of the
loss of the Instrument Bus?
a. Automatically due to the loss of R-14, Plant Vent Monitor
b. Manually due to the loss of R-14, Piant Vent Monitor

c. Manually due to the loss of power to the Waste Disposal Boron Recycle Panel

d. Automatically due to the loss of power to the Waste Disposal Boron Recycle
Panel



RNP NRC Written Examination
Reactor Operator

Question: 94

Which ONE (1) of the following conditions related to the Pressurizer would require entry into
a Technical Specification action or a Technical Requirment Manual compensatory action, as
applicable?

a. A pressurizer level control system fault results in level being at 68% with the plant
operating at 2% power

b. A pressurizer pressure control system fault results in pressure being at 2184 psig
with the plant operating at 14% power

C. SST-2A Disconnect, used to supply emergency power to the pressurizer heaters
from EDG 'A’, is removed from service for maintenance with the plant operating at
35% power

d. Auxiliary Spray, at 400 °F, is used to depressurize the RCS from 2235 psig,
resulting in a cooldown rate of the Pressurizer of 135 °F per hour



RNP NRC Written Examination
Reactor Operator

Question: 95
Given the following conditions:

The unit is operating at 70%.

Rod Control is in AUTO.

Bank 'D' control rods are at 195 steps.
Tref is 566.9 °F.

Loop Tavgs are:

LOOP T-AVG

A 569 °F
‘B’ 567 °F
‘C 566 °F

Which ONE (1) of the following failures will cause control rods to step inward?

a. Loop 1 Thot fails high
b. Loop 1 Tcold fails low
c. Loop 2 Tcold fails high

d. Loop 3 Thot fails low



RNP NRC Written Examination
Reactor Operator

Question: 96

Given the following conditions:

e The unit is operating at 30% power.

e A dropped control rod has just been re-aligned.

e While attempting to reset the Rod Control Urgent Failure alarm, the operator inadvertently
pushes the Rod Control STARTUP button.

Which ONE (1) of the following describes the effect of operating the incorrect button?

a. All Control Bank control rods drop into the core, causing an automatic reactor trip

b. All rods, including Control Bank and Shutdown Bank rods, drop into the core,
causing an automatic reactor trip

c. All rods remain in their current position and there is NO effect on the Rod Control
System circuitry

d. All rods remain in their current position, but the Rod Control System circuitry senses
all rods are fully inserted



RNP NRC Written Examination
Reactor Operator

Question: 97
Service Water Pump "D" is capable of being powered from which ONE (1) of the following
power sources?

a.  ONLY 480 VAC Bus E-1

b.  ONLY 480 VAC Bus E-2

c. Either 480 VAC Bus E-1 OR 480 VAC DS Bus

d. Either 480 VAC Bus E-2 OR 480 VAC DS Bus



RNP NRC Written Examination
Reactor Operator

Question: 98

Given the following conditions:

e A plant cooldown is in progress in accordance with GP-007, "Plant Cooldown From Hot
Shutdown to Cold Shutdown."

e RCS Pressure is 1500 psig.

e RCS Tavgis 515°F.

e A RCS leak is identified inside containment.

Which ONE (1) of the following identifies the valid signals that could result in a Containment
Ventilation Isolation under these conditions?

a. e Hi Steamline AP
Alarm on R-12, Containment Noble Gas Monitor

b. e Low Pressurizer Pressure Safety Injection
e Alarm on R-14C, Plant Effluent Noble Gas Monitor

C. e Manual actuation of Containment [solation Phase A
e Alarm on R-12, Containment Noble Gas Monitor

d. e Manual actuation of Containment Isolation Phase A
e Alarm on R-14C, Plant Effluent Noble Gas Monitor



RNP NRC Written Examination
Reactor Operator

Question: 99

Given the drawing on the following page containing an ECCS alignment, which ONE (1) of
the following describes the ECCS alignment?

a. Cold leg injection
b. Cold leg recirculation
c. Hot leg injection

d. Long term recirculation
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RNP NRC Written Examination
Reactor Operator

Question: 100

Given the following conditions:

e A lLarge Break LOCA has occurred.
e PATH-1 is being implemented.
e The CRSS directs you to "Verify Supplement D components capable of recirc.”

Which ONE (1) of the following describes the actions permitted during performance of
Supplement D, "Emergency Recirculation Equipment"?

a. Restoring flowpath from containment sump to RHR

b. Aligning flowpath from RHR pumps to the SI pumps

c. Restoring control power to Sl valves controlled from the RTGB

d. Aligning flowpath from S| pumps to the hot legs



SUPPLIED REFERENCE MATERIALS FOR RNP
NRC REACTOR OPERATOR EXAMINATION

REFERENCE NUMBER
NA

EPP-15, Attachment 1
GP-005, Attachment 10.1
Plant Curve 5.3

Plant Curve 5.4

Plant Curve 5.7

Plant Curve 5.8

Plant Curve 7.6

Plant Curve 7.16

Plant Curve 7.19
Plant Curve 7.20

Plant Curve 7.21

REFERENCE TITLE
Steam Tables
Required Flow Rate Versus Time After Reactor Trip
Reactor Power Ascension Indicator Log
Boron Addition — Coolant Hot - Gallons
Boron Addition — Coolant Cold - Gallons
Dilution — Coolant Hot - Gallons
Dilution — Coolant Cold - Galléns

System Resistance Curve, Post Accident Containment
Venting System

Total Hydrogen Generation Rate from All Sources

Loss of Residual Heat Removal Cooling Water Level
Between 0" to —10” Below Vessel Flange

Loss of Residual Heat Removal Cooling Water Level
Between —10" to —36" Below Vessel Flange

Loss of Residual Heat Removal Cooling Water Level
Between 36" to —72" Below Vessel Flange
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ATTACHMENT 1

REQUIRED FLOW RATE VERSUS TIME AFTER REACTOR TRIP
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ATTACHMENT 10.1

Page 1 of 1
REACTOR POWER ASCENSION INDICATOR LOG
PCV\;GC’/O Q'r'nf,i glrlngg NI-41A NI-42A NI-434 | NI-644 LOOP | LOOP |LOOP | LOOP | 1" STAGE | PI-446 | NET o
) ’ ’ Pl IR I 5" | 'PRESS. | OR 447 |Mwe| Mwe | % | (4) Sy
(1) °F ‘3; i psig psig | MAX PWR @ o
152 - @ | O 3)
5-20 9-11.5 68-90
. 73
25-30 14.5-17 113135
- 153
35-40 i
20-23 158-180 235
45-50 26-28.5 207-230
- 316
56-60 32-34.5 261.285
- 398
66-70 ;
8740 320-345 480
75-80 43-
3-46 384-410 562
85-90 49-51.5 449-475
— - 64
95-100 56-57.5 513-540 :
- 725

(1) Listed ranges and Net M
indication is the maximum
determined that indications are accep

(2) Use indicator that co
(3) Record Continu
(4)  Verity NR-4

GP-005

We maximums are predicted based o
n past plant performance. Th i
) . Thema
target value fglr each power increase. The SSO shall initial if plant maXImum Moteddhandd
table to continue with the power escalation nagement has

rresponds to the channel selected on the 1% STAGE PRESSURE select .
ous Calorimetric Program % Power. or switch.
5 is selected to the highest reading channel.

Rev. 67
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Time To Boiling (Minutes)
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Time To Boiling (Minutes)

Curve 7.20 - Loss of Residual Heat Removal Cooling
Water Level Between -10" to -36" Below Vessel Flange
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Curve 7.21 - Loss of Residual Heat Removal Cooling
Water Leve! Between -36" to -72" Below Vessel Flange
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SUPPLIED REFERENCE MATERIALS FOR RNP
NRC REACTOR OPERATOR EXAMINATION

REFERENCE NUMBER REFERENCE TITLE

NA Steam Tables

EPP-15, Attachment 1 Required Flow Rate Versus Time After Reactor Trip

GP-005, Attachment 10.1 Reactor Power Ascension Indicator Log

Plant Curve 5.3 Boron Addition — Coolant Hot - Gallons

Plant Curve 5.4 Boron Addition — Coolant Cold - Gallons

Plant Curve 5.7 Dilution — Coolant Hot - Gallons

Plant Curve 5.8 Dilution ~ Coolant Cold - Gallons

Plant Curve 7.6 System Resistance Curve, Post Accident Containment
Venting System

Plant Curve 7.16 Total Hydrogen Generation Rate from All Sources

Plant Curve 7.19 Loss of Residual Heat Removal Cooling Water Level

Between 0" to —10” Below Vessel Flange

Plant Curve 7.20 Loss of Residual Heat Removal Cooling Water Level
Between —10” to —36" Below Vessel Flange

Plant Curve 7.21 Loss of Residual Heat Removal Cooling Water Level
Between —36" to —72" Below Vessel Flange
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ATTACHMENT 10.1

Page 1 of 1
REACTOR POWER ASCENSION INDICATOR LOG
AVG NI-35 | NI-36 | NI-41A | NI-42A | NI-43A | NI-44A | LOOP | LOOP | LOOP | LOOP 1" STAGE | Pl-446 | NET | NET | CCP | NR-45 | SSO
PWR % | amps | amps % % % % eT 1 2 3 PRESS | OR 447 |MWe | MWe | % (4) (1
(1) F AO\T AT AT psig psig | MAX PWR
M F °F °F (M (2) (1) (3)
15-20 9-11.5 68-90 73
9530 14.5-17 113-135 153
3540 20-23 158-180 235
45-50 26-28.5 207-230 316
£5-60 32-345 261-285 398
65-70 37-40 320-345 480
75-80 43-46 384-410 562
85-90 49-51.5 449-475 643
95-100 55-57.5 513-540 725

(1) Listed rang :
indication is the maximum

determined that indications are acceptable to continue with the power escalation.
(2) Use indicator that corresponds to the channel selected on the 1 STAGE PRESSURE selector switch.
(3)  Record Continuous Calorimetric Program % Power.
(4)  Verify NR-45is selected to the highest reading channel.

es and Net MWe maximums are predicted based on past plant performance. The maximum value of each
terget value for each power increase. The SSO shall initial if plant management has
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Curve 7.1.

CURVE 7.16 TOTAL HYDROGEN GENERATION RATE
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Curve 7.20 - Loss of Residual Heat Removal Cooling
Water Level Between -10" to -36" Below Vessel Flange
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SUPPLIED REFERENCE MATERIALS FOR RNP
NRC REACTOR OPERATOR EXAMINATION

REFERENCE NUMBER REFERENCE TITLE

NA Steam Tables
EPP-15, Attachment 1 Required Flow Rate Versus Time After Reactor Trip

GP-005, Attachment 10.1 Reactor Power Ascension Indicator Log

Plant Curve 5.3 Boron Addition — Coolant Hot - Gallons

Plant Curve 5.4 Boron Addition — Coolant Cold - Gallons

Plant Curve 5.7 Dilution — Coolant Hot - Gallons

Plant Curve 5.8 Dilution — Coolant Cold - Gallons

Plant Curve 7.6 " System Resistance Curve, Post Accident Containment
Venting System

Plant Curve 7.16 Total Hydrogen Generation Rate from All Sources

Plant Curve 7.19 Loss of Residual Heat Removal Cooling Water Level

Between 0" to —10" Below Vessel Flange

Plant Curve 7.20 ' Loss of Residual Heat Removal Cooling Water Level
Between -10" to —36" Below Vessel Flange

Plant Curve 7.21 Loss of Residual Heat Removal Cooling Water Level
Between —-36" to —72" Below Vessel Flange



EPP-15

LOSS OF EMERGENCY COOLANT RECIRCULATION

Rev. 13

Page 31 of 31

ATTACHMENT 1

REQUIRED FLOW RATE VERSUS TIME AFTER REACTOR TRIP

FLOW RATE (GPM)

Page 1 of 1
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ATTACHMENT 10.1

(2)  Use indicato

(3) Record Continuous Calorimetric Program % Power.

@)  Verif

GP-005

(1)  Listed ranges and Ne;t M
indication is the ma?u
determined that indicat

mum targ

r that corresponds to the channel selected on the 1% STAGE PRESSURE selector switch.

y NR-45 is selected to the highest reading channel.

We maximums are predicted based on past plant performance. The maximum value of each
et value for each power increase. The SSO shall initial if plant management has
ions are acceptable to continue with the power escalation. :

Page 1 of 1
REACTOR POWER ASCENSION INDICATOR LOG
AVG | NI-35 | NI-36 | NI-41A | NI-42A | NI-43A NI-44A | LOOP | LOOP |LOOP | LOOP | 1 STAGE | PI-446 | NET|{ NET | CCP | NR-45 | SSO
ot | amps | amps o % % % AT 1 2 3 PRESS | OR 447 |Mwe | Mwe | % (4) (1)
) F AT | AT AT psig psig | MAX PWR
(M F F °F (M (@) 1 (3)
15-20 9-11.5 68-90 73
2530 14.5-17 113-135 153
3540 20-23 158-180 235
7550 26-28.5 207-230 316
55-60 32-34.5 261-285 398
5570 37-40 320-345 480
- 43-46 384-410 562
| 85-90 49-51.5 449-475 643
95-100 55-67.5 513-540 725
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Curve 7.1
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Time To Boiling (Minutes)

Curve 7.19 - Loss of Residual Heat Removal Cooling
Water Level Between 0" to -10" Below Vessel Flange
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Time To Boiling (Minutes)

Curve 7.20 - Loss of Residual Heat Removal Cooling
Water Level Between -10" to -36" Below Vessel Flange
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Time To Boiling (Minutes)

Curve 7.21 - Loss of Residual Heat Removal Cooling
Water Level Between -36" to -72" Below Vessel Flange
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RNP NRC Written Examination
RO Answer Key

Question: 1
Given the following conditions:

* The unit is operating at 100% power.
* Annunciators APP-008-E7, S. SW HDR STRAINER PITHTEEVEL and APP-008-F7,

SOUTH SW HDR LO PRESS, come in smultaneousl \

Lo

Which ONE (1) of the following actions is required as a<mrrgd1ate actlonQ

““““““ /
a.  Stop'A'and 'B' service water pum / /
b. Close SW supply to south he er v%ve\vs 12@
c. Close SW supply to north/ﬁ\de( VQIve \\/}QD //
d. Close SW cross- conr(ec\tvawes\%GQZB and V6- 12C
\ \\\ N \\\\ A
/\ ‘)‘-\\ N 7
~
.—/ QA \\\ )] hY l\
Answer: o \\ \// N.

\N: /
< I \ N ‘X
\\ \\1\\/5 \7\/ </\< N \\/
\\\\ \/ ™ \\ E\\\\/
\ NS



RNP NRC Written Examination
RO Answer Key

Question: 2
Four Operators worked the following schedule at the RTGB position over the past six days:

HOURS WORKED (Shift turnover time not included. Do NOT assume any hours worked

before or after this period.) / RN
OPERATOR DAY1 DAY2 DAY3 DAYt 0675 I\DAI 6

1 10 14 of }2> N 1?/ ........ 12\;7
2 14 12 4 e \off\ \\ﬁ ““““
3 off off off < \(3// /\ 1 \/M

4 11 13 41 O\

Which ONE (1) of the operators w d be itt Nrk/Z hour shift on Day 7
WITHOUT requiring permlssmn/to ({(eed\r10r al o ¢ limits?

\ .
- \\ A
a 1 / 3 \ \ e ’ \
!; ( \///,,MA»\ \ ‘\\ \\
b 2 \ //_\ \‘ p f:/ el \\
. e N T N
c. 3 AN e N N
P NS //§ \)
d. TN ‘““’ a
N N



RNP NRC Written Examination
RO Answer Key

Question: 3
Given the following conditions:

The unit was operating at 100% power when a pipe break occurred inside containment.

pr———

e Containment pressure is rising. / AN

* RCS temperature is lowering. N

N \
Which ONE (1) of the following differentiates betweeg <Qe:\50fable mamﬁfegd line break
inside containment and a non-isolable main stearp lné/b Kk ms:c{e ‘fhe\contalnment of the
same size? ya

DN
N

a. RCS heat removal would be gréate(\foKhe s%y fine break
b.  Containment pressure wgdld begsgate‘r\for\tbe fe/eemne break
N

c.  Containment sump Ieﬁwonld B@xgreater\far the steam line break
d. RCS depressuri / \ould be gréater for/he feed line break 3

h \\ B // \!
\ - /\.. e l




RNP NRC Written Examination
RO Answer Key

Question: 4
Given the following plant conditions:

The RCP Seal Injection filter has just been changed out.

HP placed the filter in a lead container. n/\ ™~

Prior to placement of the container, R-4, Charging Pump RoomMomtor read 2 mr/hr.
The container is on a pallet outside of the Chargin um&l?oom/
The activity source in the filter is primarily Cobal{-6

The container is 5 feet away from R-4 detectcpjan\d \4 reads’ﬁﬁmr/hr

If the container is moved to 10 feet away frorgthe R- 4A’ete>tor\&4 VD)‘H indicate ..

( O\ N
\\ /
a.  4.0mR/r. ~\, \\\\\, /
NN\
b. 4.5 mR/hr. o\ NN
{ \\\\\ ‘\\\_\\\\\ \\\
C. 6.0 mR/hr. S \\Q\ N “ /- P
/ /\\> IS N\ e \\
d.  70mRMhr. /N N
{ C//- \\\ \/ P \\\ \\\
AN \ N '
\ \\\ N 3 .\/\ ] \
< \ h /j’\/\ ,// /E \ \“\\\\\ \\
Answer . / / N
{rx\«.\\ikh\ \ N ,\\\ . /
a. 0 mR/hr. \ . / y P
\ N > / / s
\\ \ N4 E N /\/
\ AN ‘\ \
. / i\ L\
. - \ -



RNP NRC Written Examination
RO Answer Key

Question: 5

Given the following conditions:

At 0110, a Reactor Trip and Safety Injection occurred following an accident.
At 0112, an Alert was declared due to RCS leakage. "7

At 0116, a Site Area Emergency was declared. \
At 0120, a General Emergency was declared.

State/County officials and the NRC must be co/m let \\ AN e
< /
STATE / NRC (’ \ /
COUNTY RS \/ /
> N /
a. 0125 0210 AN NN S
N\ N\ N AN e
b. 0127 212N N
—. \\ \\\ \‘\‘\\_,/ ,/,\\
c. 0131}/ 0216 ™ 7N
7 = = ~ % \
d. o135 1| Cazzo o - NN
¢ \.V.///’\ > : //\\“‘“««M\M\N \
“ o~ y >
/\“\m\\& \{\ ~~~~~ / // </ \)
Answer. )

N //\ \ ‘L\\\
b\\\ § 012\/ M 0212 \\ N ?\\\\1/
N\ >/ AN “x\
\/ \/>
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Question: 6

Given the following plant conditions:

An emergency boration is in progress through MOV-350, BA to Charging Pmp Suct, per
FRP-S.1, “Response to Nuclear Power Generation / A N

* FI-110, Boric Acid Bypass Flow, indicates 33 gpm. \
e FI-122, Charging Line Flow, indicates 75 gpm. </ { ™ i
e VCT level is 23 inches. A N T
e VCT Makeup is aligned for automatic operatlon ‘> AN < v
* Normal letdown has been isolated. / \ ™~
‘, /
VCT level will ... / )
. . N NN Q /‘
a. remain essentially unaffect \ \\ N /
‘\

b. decrease to the auto makéup setpomt anﬁ stahhze
C. decrease to the low-fevel se*pg\lnt\a\\d cause the charging pump suct|on to switch to

the RWST. /\ ,/ \

d. decrease to (he a/bﬂkeun s\ﬁg y? and cycle between the makeup 3§tart and stop

setpoint \ } \ Y

TN T AN
\ /\\“_/ //j / S
Answer: e NN\ <\\J/ N \>

( N \ >
desreaseto.the auto/ makeup setpoint and cycle; b%&«ee thexﬁa;eﬂp\start and stop

d.
/ \{ - \V /
AN =D




RNP NRC Written Examination
RO Answer Key

Question: 7
Given the following conditions:
The unit is operating at 100% power.

e APP-003-C3, PRT HI PRESS and APP-003-D3, PRT HIA O LVL have alarmed.
* PRT level and pressure are slowly increasing, but the is/ N\O abpreciable increase in

PRT temperature. Sl
¢ NO other annuciators are in alarm. /\ NN "\-«\.7
\> e — yd
The PRT response is likely being caused by Ie;kage,;ﬁast \ \\ ”
RS \,/ ) /
a.  PCV485C,PZRPORV.  { "\ < /-/ >
\\\ SN0 /
b. RC-551A, PZR Safety. / N \\ Vi
c.  CVC-203A, High Pr9$/\ Ore\e\tdBQvn\Lme %ef
d.  Cvc-382 Sea/vrterﬁemm Line Reliet:~ A
[ \ v
9 / //~ \\\\\ \~j}; \
: N \\, ) . .
Answer: / /\ N
N
d. \/}

\%""I WatiReiu/ fh Line Relief. 1<‘// { />
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Question: 8

Which ONE (1) of the following conditions would result in a reactor trip?

a. PT-447, First Stage Turbine Pressure, fails low witkrpower level at 22%

b. NI-43, PR Channel N43, fails low with power<lével é”219%

.....

Answer:

C.
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Question: 9

Which ONE (1) of the following describes the reason for RCP restart in FRP-P.1, "Response
To Imminent Pressurized Thermal Shock", if the Si termination criteria CANNOT be

satisfied?

7N
a. Restores PZR spray to allow RCS depressur)zétlogf |n\subsequent
StepS \ ‘\.\
> \\\\\ 7
b. Equalizes S/G pressures to allow smul/ us cono o? all-three loops in
subsequent steps
C. Mixes Safety Injection water a watert ralse the\ﬂiud temperature

entering the Reactor Vessel d nch\é{

d. Transfer core cooling to fQ/rced I \?Eg e Qpétors to terminate Safety
Injection when the cn/e(la ‘cue h@T tis
AN \ \
Answer: // \>\‘ . N / \
/H\&‘%\\RQ{ |
C. Mixes Safety Injection water a{md water to raise the ﬂWgratWe

entem}gfibKReactoryessel dawncomer
N /

\\\\\\\
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Question: 10

Given the following conditions:

* The plant has experienced a reactor trip.

e The CRSS directs the RO to manually initiate Safety Ig/ecﬂcﬁ\

* The RO inadvertently depresses BOTH Containment pray\pushbuttons

In addition to Containment Spray, which ONE (1) of théd'{b\h?ﬂ)é are AI.Lexpected to automatically
e

occur? Y > _ (" ya
VAR AP \ N
a. * PhaseA TSN >
. Phase B ,f\<‘» \\/' // " \'\//
4/ \\ \ I / \\
b. * PhaseA \ \ \, /
* Containment Ventllatp/ I\olahqn /
\/
c. * PhaseB 4 \\
* Containment Ve Iatlonxigolah@\ )
/w I \
d. * PhaseA / . / N
¢ Phase B; (Y ~ ~. \ A
. Contaqmgnt Ventllatlon Ié?lat 4/ T
****** | N T AN
\\\\\ \
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Question: 11
Given the following conditions:

A power reduction is in progress from 22% due to degrading condenser vacuum.
The unit is currently at 8% power. e TN
REACTOR TRIP FROM TURB BLOCK P-7 permls;/ve is illuminated.

Condenser backpressure is 5.7 inches Hg Absolute’and @radmg slowly

NO cause has yet been identified. 7
Which ONE (1) of the following actions should tak ninac rda e W|th AOP-012,
"Partial Loss of Condenser Vacuum or Clrcug )eﬂ "’7

7 N \ Q
a.  Trip the reactor and go to PATﬁd h \\ 4 /

b. Trip the turbine and go\to AOP (\)\O\ﬁTuere ‘anélthout Reactor Trip Below
pP-7" \ \ \\\\\
c. Trip the turbine ’R»GP 506 }Nor\aﬁjlant Shutdown Frorr)P'dyver
Operations t Shutdowﬁ\ oy
‘‘‘‘‘‘ \ \
d. Begina Ianf utdown in; a&ordance with GP-006, “Norrpéi Pla‘nt‘Shutdown

From Power.O rat;eﬁs to Hot‘Shutdown” —
N AN e / / \\ ........
*\.\\:\\\ \ S ,/ \/
Answer: N AN </
o >

Begh\a\pé shiitdetn in accordance with G{ 008, ° orma(@a{S tdown
Power@aratlons to Hot Shutdown” “X X‘L
\ \> N T
NN
§ O
N
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Question: 12
Given the following conditions:
* The plant is shutdown following a reactor trip.
* RCPs are all secured. //““
* The Inadequate Core Cooling Monitor is NOT capable of p[gwdl g subcooling margin.
* Primary Plant parameters indicate the following: ( ) }ﬂ__\
% I
7 .
INSTRUMENT PARAMETER 4\ l}lJE <""\\ e
PT-455  PZR Press 1 548/ /as.g\ \\ N
4
PT-456  PZR Press /\<\ 1¢6’5
PT-457  PZR Press 15 /
PT-402  RCS Press / mso
PT-405 RCS Pre AN 15 p3|g
TI-453 PZR Teni{s};e@ne\)\ . 5;4 °F A
\ \
454 PZR @(Vabm)\ma) 630 °F 7N
LAY
Ti413  RCSfotteg WRTS 538 °F SN
AN
TI-423 /\Rés\Hot/Leg WR Temp 536 °F /4 _ \\

TI-433

\\ HotL/égW ‘emp 534 °F / \)
. T~Highes i\c-r(S CETs 548 °F / /S

/
The marg‘in toéaturation is ... \
\\ ) .
N \ /
a. 46 °F.
b. 51 °F.
c. 56 °F.
d. 58 °F.
Answer:
a. 46 °F.
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Question: 13
Given the following conditions:

* A 25 year old male started working for the Operations department at H.B. Robinson on March 3"
of this year.

e He previously worked this year at Shearon Harris a 2(§>a/r't of the Mamtenance department.

» His exposure for this year at the Harris plant was 1 j
He has received NO CP&L management exposyre “extensiofs and NGegmergencnes exist.

e
Which ONE (1) of the following is the TOTAL DITJgNAL\effectNe dosé/equwalent that the
individual can receive WITHOUT manageme conCun;énc> at blnéen this year?

a. 300 mRem \ W\ Q //\
NS -
SN \\ AN
b. 800 mRem RN
§ \ AN \ N/
c. 2000 mRem SO N
\\\\\\ \:\\\ /\ .
\ a
d. 2800 mRem / \ \ . / \
* ¢ \//,,_\\ 4 o

Answer: e S AN AN
N AN VA, / N IR
b EI]}\\\\“ \<\\ ...... / / / > \\)
.~ ANCY N
T < S
<\\\ \ \ NN y S/
Ny Y N \“\\N
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Question: 14

Given the following conditions:

e A clearance is in effect with two (2) Maintenance department clearance holders
(Clearance Holders A and B). SN

* Clearance Holder A has requested a temporary lift of / ortlon o{ the clearance to test

- equipment for one of the tasks. (
e Clearance Holder B is NOT available on site ar;i isSNOT ex;ﬁected baekj/or two (2) days.

S
Which ONE (1) of the following describes the p/oceis/}o t@rrhso\r\aniwq thé/reqmred portion
™

of the clearance?
o < N
\
N N

a. Obtain permission of Clearance old ﬁ andﬂh{ Co (ol Room Shift Supervisor,

remove the tags as necegsj:ry and\r:}\Q he tags when complete

N \\ \/

b.  Obtain permission of Cl \ older A and Clearance Holder B's supervisor,

remove the tags as nec:}adg, sta /khe tags when complete

s
N,

lea\ance Ho r A and the Control Room Shlﬁ\Superwsor
remove and canefeltheré ra e, and reissue a new clearance \(VIth
different boundarles Ty

X

d. Obtan@w s*o“n of arance Holder A and Clearan iolder B! upenwisor,
remove and ca ir;tn'ﬁeélearance and reissue 4 new clearance with tt?
gémﬁ) Houndaries K plete P / o

me
/‘xi
Anier \\\ ( “\\
//\\ .

b.\\ thaln g;ﬁssnon of Clearance HolderMA and*CIearance\I-T er B's supervisor,
»_remove thie tags as necessary, and reinstail the ta@vh& omplete

\\ N,
\ / \
N [ /
\

S
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Question: 15

Given the following conditions:

* Fuelis in the vessel.

* RCS temperature is 120°F. /’““\

* ltis 10 days after the shutdown. . \‘

e RCS Level is 8" below the vessel ﬂange / ") L}m\

RHR cooling is lost.

Using the supplied references, which ONE (1 5/ hef>ll |\g |de es how much time
remains before boiling begins occurring in th
\\/

a. 15.5 minutes \\\\ \\\ ,
b. 22 minutes NN \/

c. 29 minutes \\
/"“\‘\

p N . )
: / _ N R Y
d 405 mlnutes; / // — > A
o N / e
Answer: / Y o S
{ N N w/ /\3 \\/
b. t ’
z\mlnu es y Q / /
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Question: 16

Which ONE (1) of the following conditions would be REQUIRED to be entered by the
Reactor Operator in the Control Operator's Log?

a. Test data for an unsatisfactory Operations Sur\pe’ fance\Fest
N v

b. Entry into a Technical Specification LCO Ac én S temen{~

c. Name of on-shift person relieving an Aummy rator(f{ho wem home sick
d. Change in Secondary Chemistry Aguon L/eve( > N \

\ \ \
SO N N
< \Q\ AN \//
Answer: NN X \\
’\\ \\\\ AN S
. X A
N \/ P
7 7N N
d Change in Sécon{dé)‘y Cﬁémjst /}n Level vy
~ o // 4 el X
N, . Y
\ S . TN Ao
\ - //\‘--.// I3 / >

.
T,
~—
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Question: 17

Given the following conditions:

* RCS temperature is 362 °F.
* RCS pressure is 900 psig. ’“\
* RCP pump bearing temperatures are increasing.
* RCP seal injection and seal leakoff flows are: / &
/ ‘‘‘‘‘‘‘
RCP SEAL SEAL A \ -
INJECTION LEAKOFF > T /
A 5.8 gpm 1 2gpm / / ’\ AN ‘\
‘B 6.7 gpm 0.9 gpm\ ( N
AR N .
‘C’ 6.5 gpm 3gpn\ \\ :
N\ AN

Which ONE (1) of the following /as@ns mugt be takén_ to pérmit opening CVC-307, PRI
SEAL BYP I1SO? ‘o AN \\

//-\\ . N \\ S /,/\\
a. Increase RCS prpssu)eme n 100 psig \ \
KW ~ NN
b. Lower;‘«C témperat):emore than 12 °F £ : ‘\\
T SN T —
C. IncreasEKCP A seafmject more than 0.2 gpm ™ >
T N SO N

d. k\rease RCP 'B' se eakoff more than 0.1 gpm
A
\ /

\ \\ A
NN ~ N
Answer\ \> /\ J !

C. l:éase RCP 'A’ seal injection more than 0.2 gp%/
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Question: 18
Given the following conditions:

A Reactor Trip and Sl has occurred from an unisolable main steam line break on SG 'A'.
Diagnostic actions are in progress. -

SG 'A' has been isolated per EPP-11, "Faulted SG lsglation”, a?\d is dry.

RCS temperature has been stabilized by dumping \ean'(fﬂ‘n the intact SGs following

-«—\«\

the dryout of the SG 'A', N S

Which ONE (1) of the following would be the Fi S/ %lcatlbq to the\ope%s that a 250

gpm tube leak has subsequently developed |? G /A’? 2 \ \ ™,

\ \
4 < / s
/

a. R-31A, Main Steamline Monltoh alanml

b. SG ‘A’ pressure equallzué wnt\RG§ prés\sure\ y

/\ %, ‘\
c. Pressurizer level dec[easmgQ RN ;
AN

,_/—*\

d. SG A’ level m;zt/eas \/g N

...,

N~ | S N
Answer: '-\\\ ~~~~~~~ / //S \)

¢ A
\. N Y s /
\\/C\PFE§SUT r\vel decreasing ( \ N V}
\\ / \/ “;;\\\\ /

A\ \\
\ X
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Question: 19

While performing OST-012, "Power Range Calorimetric During Power Operation (Manual)
Daily,” which ONE (1) of the following will result in ACTUAL power being HIGHER THAN
INDICATED power?

Ve “‘\\
AN

e

b. MDAFW Pump ‘A’ is operating with ﬂow/beiggwl\eli\'/\er/ec} toaSG >
/ ) ~
c. Indicated feedwater temperature used is(laﬁ/;mqa\naﬁgt\

d. Indicated feedwater flow used ?bét\er than actual "~ v

AN /
,\\\\ AN Q /
\\\\ \\\/

\
~ AN
“
/ \\\ AN
£ ~ O\

N
Answer: N RN
/-\\\ Y \ ~. ) /‘:\
/ 7o ) R
/ \\ \\ “:‘ \
[ \/// T h / N

H h_— 3 s . ‘\.
b. MDAFW Pur'n{'A" is operating, witﬁ‘ﬂ/ow being delivered to/a/ SG~- \‘\\

St
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Question: 20

Given the following conditions:

Refueling Operations are schedule to commence.
e RCS Boron Concentration is currently 1825 ppm. ,/‘\\
Which ONE (1) of the following describes the required RCS oR)n cqncentratton for refueling

operatons? N N T

/\ > AN _— /’7
/ NN
a. Boron concentration is adequate / / NN \

b. Boron concentration must be n)créQSQd by a mlmu?n\}f\fS ppm

c. Boron concentration mus?awq:?e\z:d by\wﬁ of 125 ppm

d. Boron concentration ;nustb\e mc\ea d by\a minimum of 175 ppm

SO NS
\\\ \\\ \\\ ) A
S N N % A
/ // .\\ \\ N\ Y P /

. . { \
S \ L\
{ ( /,/ .“\\\ \\ / Y \\

~ N A / """"" ) kY
\ ) y

Answer: \\.-, N L \\
A~ /\ ~~~~~~ -
AN < / N \>

C. @on?:oriéentrat% E1\G§f'be increased by a miniqu/mqéé pbm

NN AN </
ans \\\ SN ?
Vo
N

NN / /\ .
\\\ N )

. )
\ N /
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Question: 21

Given the following conditions:

A reactor shutdown is in progress.
APP-005-B2, N-35 LOSS OF COMP VOLT, is received, ™\

N-35 indicates 6.0x10E-10 amps. R

N-36 indicates 7.0x10E-11 amps. Oy

N-51 indicates 80 counts. Do Y T
N-52 indicates 90 counts. e § \ (\\ /!

Which ONE (1) of the following describes the<MINIMUN()on )\reqblred to obtain Source
Range N-31 and N-32 indication?

N &/

a.  Push ONLY the "Train A Séuée}angé Logic Ty@éfeat" button
\
b.  Push ONLY the 'Tra{ﬁ)tPer(ms%\we P-6 Defeat" button
c.  Push BOTH the*Train, NSource R\nge dgic Trip Defeat" AND tbé'rrraln B

X

Source Rangé LQQJQ/erDe?eaQWns LN
d. Push {1 }Qns"Traln A Permissivé P-6 Defeat’ AND the  “Train B Permissive P-
b & ‘

6 Defi . AN

S /' /7 -
< \/\>

Answer: \
{Y\Z‘S\B\ e"‘fragA Permissive P-6 Dejéat" Al\}D{he "T{@I/Dé missive P-

OR
NN
\ Ol >
\ / \\>
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Question: 22

Given the following conditions:

The unit is operating at 100% power.

NO scheduled releases are in progress. de/
A small leak develops from the bottom of Waste Con ate Ta\mk "A",
All ventilation systems are in a normal configuration: ( i

\/ TN

—

An indication that would alert the operators of the /\ ‘(;e\tal liquid release j /ln progress is an
increase in the level of monitor .. \ \

Answer:;

A /// ~
R-3, PASS Panel Area MOﬂItO\ Q / /

R-4, Charging Pump Roqrﬁ Area) onlfo\\
R-9, Letdown Line Ar@ Mo}u\tor\\ /
R-14C, Plant E}ﬂfﬁt\g\l\ble Gas de Rarige Monitor. AN

(o~ \/ \\ ‘\

\ ey

\\_,M/ 3 / )
as S /

\P@%t E%eQ\N Gas, Low Range Monu/ /X \ )

2NN
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Question: 23
Given the following conditions:

* The Control Room has filled with dense smoke from a fire on Unit 1.

The reactor has been tripped manually by operators. " ™\
* The Control Room has been evacuated due to the z/se smoka
)t

/ N

hat will be INITiALLY used to

,_—

Which ONE (1) of the following identifies the proced
stabilize the plant?

a.  EOP Path-1 and EPP-004, Reacto(r Tn

b.  DSP-002, Hot Shutdown <U/ }me Deﬁ%&d@lte}aﬁate Shutdown System
c.  AOP-004, Control R\om Ina séib\\Yy / A
/ 3

/ \ \ \ \\

P

d. GP-0086, Nor‘malq:{ant Shuta’awn\frem Power Operation to/HotShutdoWn

Answer: e > K \ /.\
. OP-0 CBFQOI Room Inaccessibility
{\\\/ /
\ % J / \

et
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Question: 24

Given the following conditions:

The unit is operating at 40% power.
OST-011, "Rod Cluster Control Exercise & Rod Positiontfdication Monthly Interval," is
being performed. N

Annunciator APP-005-E2, ROD CONT SYSTEM UR/GENT\EAILQB\E, alarms just as
Control Bank 'C' rods are being withdrawn. T

N

Which ONE (1) of the following describes this c/ondmpn and For the\actlons that should be

taken?

Answer:

/// “
<\ 4 /\
o

This is an expected alarm.

Continue wnthdrawmg/éontrel\B\nR\C\&ds /

This makes mort-‘ythaq one I’Qd inopera le.

Trip the reactor énd EA -1\ / .
\/ e
Place the }éD BE\IK SEJ\Eig (?}]swnch in Manual. \

Restore Tavgrto féTBy\rals ine load.

Pla;z/e the RQQ_BANK\SELECTOR switch in Manual
Res@re Tavg to Trefby dl}unon
. T \ \\ . // \\
</ SN N -
\ /\

Place the ROD BANK SELECTOR sw1tc{|n Manua \/

oreJayg to Tref by dilution. //\ Vool

7 AN -
™~
/\/ \ \ !\\\\\/ /
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Question: 25
Given the following conditions:
* The unit was operating at 100% power.
* A turbine runback is in progress. /""“
e Power is currently at 93% and lowering as the turbine funback occurs.
e APP-005-D5, OTAT/OPAT TURBINE RUNBACK ROD S{I‘ O\/P is Mlluminated.
e APP-004-E3, OVERTEMP AT TRIP, is illuminated. ™ Y '\-~7
* Allloop aT's indicate less than the OTAT and/O/PAfF setpoints<_ ™./
* AllOTaT and OPAT bistables are extinguis/héd.// N \\ N N
Which ONE (1) of the following describes <the§agtioﬁ¥to be tayeh\?\‘v/
N \\\&/
\ ,
a. Verify the turbine runbacl<stop en bqwe lgwe to 90%
b. Verify the turbine rugb/a\Bk\s\tst\?{qe\n p0\> lowers to 70%
. .
— ™~ A
o} Place the turbipgin MANUAL due tég runback circuitry failure // 3\
/o~ > N
d.  Trip the reactor @o to PATH- e NN
~ AN . \‘z / T X
N> N e N
\ v //\\w// ;! \ ~~~~~~ i
- N < \>
Answer: \\\ AN \// , // ya
N \ i Y
/ N4
d. Trip\%r%r\g\g /g} to PATH-1
AN S
\ \> N O\

Ot
A% N
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Question: 26
Given the following conditions:

A valid alarm has been acknowledged for R-1, Control Room Area Monitor.
The CRSS has entered AOP-005, Radiation Momtonng,S
Step 3 of Attachment 1 has the operator stop the HVS<1 Auxulta?’y Building Supply Fan
by opening the supply breaker on MCC-3. ;

Which ONE (1) of the following is the basis for th ;été;’?\ = /:7
N \ \ ““““““
/ / \ N

a. Ensures that any air-flow will ba fr&n thé@@m@mtﬁe Auxiliary Building

b.  Ensures that the air-borne cont ts che ontr/o( Room will be exhausted to
the Auxiliary Building for piéanhp\\ \ \

o Ensures that personpéhn\e Auxmary Bu\kyng will NOT be exposed to high

! d
airborne actlwty for & a\p\ro M pe\\od - / A
d. Ensures that })érsonn ControLRoom will NOT be exposed/to ﬁigh radiation
condition for,a pw6| eno f t| e Y
/\“\\“ \\ X\
/ Y

/ e x ~ -
Answer: \ /\--/ / / "~

- \ </ //'
a. E/ sures thatany a fow will be from the Control oonmary Building
AN e N P /
. k
\/ \\ \\\/ \ AN /
\\ \\:/ <\\ \&
N\ \ -~/
V< AN \
N ) NS
" N
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Question: 27
Given the following conditions:

A large break (DBA) LOCA has occurred.
EPP-15, Loss of Emergency Coolant Recirculation, is bgifig implemented.
One S| Pump and one RHR pump are running. /ei 3

Time after trip and Sl is 20 minutes. / i

S| CANNOT be terminated due to insufficient sub\cbolmg \/ T

7

>
Using the supplied references, which ONE (1) pfthe follow\m\g\s\tates the INIMUM S flow

?
for these conditions? / N >

/\

/‘\ \/

¢ N AN \

a. One RHR pump injecting, wuLI'Qow rﬁa\ua\lly t%ottle;?é approximately 260 gpm
NN S

b. One RHR pump m;ec/tmg wuth ﬂow\ﬁQanu\a\y theoftled to approximately 130 gpm

C. One Sl pump lnjectmg\lthﬁgv m@:auy thTottled to apprOX|mater4260 gpm

/
d. One SI pumpflnjf-}tu)g/ \MW yally throttled to approxmately 1“\30 gpm
. N / \

}.g>w1th flow manually throttkﬁ{apg;dmm ely 260 &m

{\\//

! .

/ ) “‘. o \/
N T~

N i
o

\V’ N

AN /)
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Question: 28
Given the following conditions:

The unit is operating at 24% power during a plant startup.
Rods are being withdrawn to raise RCS temperature. 7 ™\
* When the IN-HOLD-OUT lever is released, rods contipue to step outward.

Which ONE (1) of the following actions should be te}l@ \/ T ~
a. Place the ROD BANK SELECTOR S}ntch u’?Autohatlc and vefi\{ rod motion
stops < / / N \\ >
AV

b. Place the ROD BANK SELEC'(’ORsWt\h in l!( /ual a verlfy rod motion stops
C. Manually trip the reactor lr( a\trsnpatlon of\an\nter diate Range High Flux Trip

and goto PATH-1 NN
/ \\\ \ \ \ \
d. Manually trip the reéstor in HIQ‘CI[)thDﬂ of a/Power Range High Flux (Low
Setpoint) Trip 7nd gotp PA;I’H 1 w7 / \
l/ /,/ﬂ\ \\\ \\
A i N \/ . /\«»\\1\ a\
nswer: \ AN . e \

/ \\\w_,, - \ 1 / ~~~~~~ \
a. ;I{:Sagse the. R(}D\{ K\ ELIE/OTOR switch in Autorr;tlc a@venfy roa”%
- s
>

/
- // N\

S L
/\\ —~ / "a\ \,\ N
NEAN AN T\ /
\\\\/ /\> N N » s

N



RNP NRC Written Examination
RO Answer Key

Question: 29
A Containment Purge is in progress.

Which ONE (1) of the following will automatically terminate the purge on a high radiation

.

signal? TN
/// . A
a. R-2, Containment Area ( . /; T
/ \X \\ e, //
b.  R-11, Containment Air and Plant Ver}tvfﬁartic’ulate\ N
/ / N \
c.  R-14A, Plant Effluent Particulate ./ / o
2R / \
d.  R-16, Containment HVH Cooling Waie\r\Radﬁae( ve).fﬁu;d
\\\\\ AN
Y \\E.\ \ \/
' AN N
Answer: N N
o \\\ Ny L //‘:_\1
b. R-11, Contaip(ent \l}u? and\PIant Vent Particulate \ \'\
% / NN
- WO PR
/ \ \ // . i “\/\ — ‘\
\ <//'\\,,_,//I // \ \\\\\\\\\\ \ \>
AN
T N0 / (/\ NV



Question: 30

Given the following conditions:

Reactor power is 35%.

All control systems are in automatic.
Pressurizer level transmitter LT-459 is selected for control. !

A small leak develops across the differential pressu\fé bejfow;s for LT-459 resulting in

RNP NRC Written Examination
RO Answer Key

pussn— .

N .

pressure equalizing across the bellows. . =

NN e

Assuming NO operator actions, which ONE (1) of the/follqwmg deanbes the instrumentation
and plant response to this leak? 4

¢ < / > \

s \\\ Y Vs /‘\ N
< \\\ AN (\\ v 4 /\
L1-459 LI-460 [ ~ .~ 7
PZRLVL | PZRLVL ™00 ™ NS
Y ~ /,
a. Increases Incr, <eases\ AN N \\
- § \\\ N /> “
b. Increases /Béue}%es\ YN Y P
i N - e, \\\ \\ ‘:\ \
c. Decreases| | (ncre@ses™| ™./ e N
d. Decrgésés\ Decreasey | | /‘/ ~~~~~~~~~~~~ AN
//\‘w/ f / /\ ‘‘‘‘‘‘ ‘\_\‘ \
—~__ N L J
<\ NN\\ \\\ iiiiii // ///X \\
Answer: . > A \\ N AN
e i / .
— AN
{b. creases [\Decreases 4
\\ AN \I.n\ / /\ k‘\\ “\\\ AN /
NS N
AN N -,
A /\\\/ \ r\\\\
\\ ( \ § ~~~~~ V4
N N,
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Question: 31
Given the following conditions:

The plant is being shutdown because of high vibrations on Condensate Pump "A".
The plant is currently at 65% power. //‘“““\

Two Main Feedwater Pumps, two Condensate Pumﬁsand a Héater Drain Tank Pump are in
service. ’

e Condensate Pump "A" trips. Y .
/ x \ A

AN \\ T

Which ONE (1) of the following actions should pe taken'7
/

a. Attempt to stabilize the plant at/ he cﬁrrent po@ar Ié/el

b. Attempt to lower turbine | d at@\ate bet\he@n 1°//m1nute and 5% per minute and
stablize the plant at or be W 60% p&wer\ N

C. Attempt to lower turbme Ioéd}at a ’t&betw n 1% minute and 5% per minute and

stablize the pla atﬂt)below 50% Qwer\ A
d. Trip the reactor ahd\gefo PATH A \
L \\/ /‘*«\\\\}k ‘-.\
AN N L Y %
/ \ \\\‘...4—/ \ ; ‘E /\\'“\« ~‘\
. \\ (/\\. 4 ; /\ \ \“\“\\ \
Answer: .
/ \.NA,\E\\\\ \\1\““‘/ / / x \j
c. k pt lower turblry load at a rate between/1 ‘? mlnhte/an pg r minute and
stabli ;{ntaat _of below 50% power |
{4
G\\ /\ i‘x L\\\
d \1 \\\' .«

AN
/ - N

N

\\ ) \\ /\)
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Question: 32

Given the following excerpt from OP-922, "Post Accident Containment, Hydrogen
Reduction/Venting System", and the following conditions:

* A design basis LOCA occurred 90 days agd. - Y
e Hydrogen Concentration (Hydrogen Monitor Reading) is ng%. ﬁ\

* The H, Recombiner System is unavailable for C/o\nt\ai{nehtxﬂydroge‘h‘ﬂeguction.

: e S
From OP-922: // Y o
o7

/\\ N . \
11} H H . A4 . ™~ //
5.2.8 Determine the following gat\%\ ~ Q SN

1. H. generation ;gté\{rorﬁ\(%rve Book, (;uf've 7.16, Total Hydrogen
Generadtion-Rate From-All Soufces.
N N NN
- Time foliowing DBA_ N\___Days
-H. Gel‘;’;(atio‘ ate. .. _/ __ SCFM (Curve 7.16)
S /M“‘*> \‘\\ h ~TT \
2. I-,l{ Congeng[gtibn\from Containment Hydrogen quitc\x located in
the Control Room or.from analysis of Contaip\ment\saﬁjlples:
| \\“ . N‘\““\}l \
<\-. {fi{:oncifﬁt?;tioi\ % i\ N

— 7

5.2.9,»~“ea@ftxnahﬁe{4;£gd€xhaust flow: / | // 3 \)

{1 <Qez2409g AN

3
™ i
(/\ ~— \ - Qe is exhaust flow in SCFM ‘\ N
\ ‘i ._ < G/ds H, Generationrate |

\ \> > is H, Concentration /\ N\ \7

\ S \ ™

\\\ / Required exhaust flow SGFM ™

NWQP?: The Containment Air Exhaust Line (PACV “B”) should be used in
preference to the Pressure Relief Line (PACV “A").

Using the supplied references, in order to provide required exhaust flow through preferred
exhaust path (Containment Air Exhaust), Containment pressure should be raised to

approximately ...

a. 0.9 psig.
b. 1.1 psig.
C. 3.7 psig.
d. 4.6 psig.

Answer:

a. 0.9 psig.
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Question: 33

Which ONE (1) of the following Fire Brigade qualified personnel would normally serve as the
Fire Brigade Team Leader in the event of a fire in the Auxiliary Building of Unit 2?

a. Fire Protection Auxiliary Operator / \\
PARRN {
b.  WCC Senior Reactor Operator . &/’; T

c.  Unit 1 Superintendent Shift Operatio;s/ | ' /-> R \_\ ‘\_\
SN y y
d.  Environmental & Radiation Contrgf\Supést/or/./ /\\ Y

N

N

SR NN /
Answer: { \\\ AN h . /"/
S N A \\
b.  WCC Senior ReactoTQae&\R \\\\\ J N
P N A
[ OO \ A
N A I
/ AN \\w%ﬂ///” ~ “] . /\““\& \
AN / e
ﬂ\ \\ y // p /> -~
~ NS / ~ \)
& N WS
4 /) ¢ /‘>
<\ - \/ Vo AN /
NN » <\ G T
\\ yd a N Y‘a\\\
\\ \ \\
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Question: 34
Given the following conditions:

The unitis operating at 100% power.

APP-081-F7, INST AIR HDR LO PRESS, has illuminat9d.’”‘\\

AOP-017, "Loss of Instrument Air", is being implemented.

Instrument air pressure currently reads 79 psig and\s/lowt&cigcre_é/gi\ng.

The Station Air Compressor is running. Y T 5
SN T

SA to IA cross connect ... /

/ A -
TN NN
4 g

~ S
A

FaN
a.  valve, SA-5 will automatically Q/PEN\to ass A ;hréu the IA aftercoolers and
separators to remove contamjnéqts fm’e to passing into the IA header.

¢ N ™
b. bypass filter isolation valves, SA290 & -224, will automatically OPEN to pass
SA through a filter tofe contaminantshprior to passing into the IA header.
{P nQVe cotamir bj

AN “
ol valve, SA-5 wjy;emM(ﬁDEhED to-pass SA through the |A gffercoolers and
separators to, em/qve onta in\a\nts prior to passing into the IA he@de‘}g :
DN N
d.  bypass filter Isolation valves, $A-220 & SA-221, will be manaty-OPENED to
pass S ough a fﬂterfbvem‘pve contaminants prior t(} ;éssig_g into thé&

header: A ) -
™~ a4 4 N
- ~ N v
)
\\\\\ ; -/

i /\
lation valves, SA-220 & SA-321, Will be anu}«%PE{QED to
a filter to remove conla«%lts ?p\rigr top siny’nﬁ) the 1A
\\ \\\ :
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Question: 35
Given the following conditions:

* The unit was operating at 100% with bank D rods at 218 steps when a failure of 'B'

inverter occurred. N
NO reactor trip occurred. /
 Rods CANNOT be withdrawn. Y ave
\ NS T
Which ONE (1) of the following is preventing rod métic _1;’7 \\ _— /7
/ / // ) \‘: \ A >
a. Power range flux rod stop N // ~ \\/
/ \ < \/
b.  Intermediate range flux rod stop- AN J
7 \\: N e
c. Overtemperature AT rqd §top o \\ N
\ \ \\\\\\\‘\\
d. Overpower AT rod stbp\ \ S ) A
/ § . \\ PR
_,,::/ N \\\/ 4 e \\ \‘\
Answer: / Ty

< - >~ % /<//> 4
\ \'. ~~~~~~~~~ ) , /
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Question: 36

Given the following conditions:

A reactor trip and Sl have occurred.

Containment pressure is 2 psig. TN

All RCPs have been secured. 4 A

EPP-007, "SI Termination," is being implemented. / 7N
NS

RVLIS Upper Range is 84%.
Pressurizer Level is 56%. /--/ \3 \ e /’7
RCS Subcooling is 68 °F. / ' SO b

SI, Phase A, and Phase B have been res§ / \ \ >
OP-101 conditions have been met for/s{a Qg a CP AN o

/
Which ONE (1) of the following descr bes Eﬁqns%or starting an RCP?
AN /"’""

a. Al conditions have béen\m\et\an‘ik n RCP ay be started
b. Charging ﬂo increased to alse‘Ffvus Upper Range at/le/ast an
;ﬁ? E)ép

additional 6% an be started \ x

c.  Chargin f{h\ow must waﬁed to raise Pressurizer Leve) 4tie
19% b, an'RCP edn be started
\ 29 \

d. ust mérea;ggénd / or the RCS musétp/ cozfe down toTKse RCS
Sub Img%&leas n additional 6 °F before an R\P c bf/st ed
\ \1 T y

{ |
Ans\vgr% N \
N\ & ~

c. \Qha rging flow must be increased to raise Pres\sunze Level at least an additional
18% before an RCP can be started N
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Question: 37

Given the following conditions:

N

RHR pump ‘A’ is in service at 3000 gpm. ;
The operator notices that RHR flow and pressu;e |§\Q\Clllét|ﬁg “~/

e Unit 2 is in mid loop operation to repair a S/G primary manway leak.
* The RCS is vented by two hot leg vents. TN
* RCS level is -71" and rising very slowly. / \‘

Which ONE (1) of the following actions would tﬁnd toﬁab\lhz& RHR\ﬂow and pressure?

< / / NN \
\/ \/
a.  Startthe RHR pump 'B' at sooo/gp\m\\ / \
b.  Lower charging flow to st7b|l|2e\§QS Iével \
c. Lower RHR pump ‘A
/\ﬂ?K \ \\ >
d. Open the RV head-vents, NN . A
// \ \\\ :/ \\
- T N / Y 3
i (//’/- \\\ \/ e \\i\ y
N S ‘

y / |
Y . AN
. AN PN N T AN
Anewer \\)\ \,\\ ~~~~~~ e /{/x Y
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Question: 38

Given the following conditions:

The unit is operating at 100% power.

'B' EDG is under clearance to repair a leaky oil fitting. "~

A tornado touches down in the switchyard. / h

The transient resulting from the destruction causes, 4 Phgs@leferentlal on the Main
Generator. oo T
The Startup Transformer (SUT) is destroyed by th\gto}nado -

'A' EDG is unable to start due to a faulty alr)meu N
After the initial transient, it is noted that B(OT H of tI)e/Réac’br Tnp breaker indications are

RED. f\\ \ N / / \ ~

Which ONE (1) of the following descnbes th requ\re\d o\e/ tor action(s)?

\
<\ \& \ \ /

a. Enter FRP-S.1, "Resdohsg tQ Ntlslear PoWer Generation / ATWS," due to the ATWS
b.  Enter PATH-1 du€ toth\eturblh‘e tri and*ﬂ/ n FRP-S.1 due to the/ATWS
c.  Enter EPP- 001 (foss/TFﬂ\AC‘PQW/e( " due to the electrical cond?tloné

S

d. EnterF bxs Mue tottie ATWS then EPP-001 due to théelectncal cond\tlons

{ T \"\ <./ \>
Answer__ \\ N ¢ ‘ N )

\p <;\ —
\ ter 001 "_oss of All AC Power," e\to the“eleqtncalféondltlons

" kN \ e
\\/ / ~ \/»
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Question: 39

Given the following conditions:

* A makeup to the Component Cooling Water (CCW) Surge Tank is being performed.
» (CC-832, CC SURGE TANK MAKE-UP VALVE, is stroked fult-qpen.
* When tank level is 50%, the operator momentarily pl esthe s tch for CC-832 to close.

Assuming NO other operator actions are taken, which <QNE éqpf the”To‘IIewmg describes the

response of the CCW Surge Tank level? //\> e /
/ \ x "~
a. CCW Surge Tank level will contu)lfe to risgto t/ ro rﬁately 55% due to the
stroke time of the valve ( AN /S e
b.  CCW Surge Tank level w:/ll/sia{m\e a}apbrglmatel/\‘io%
c. CCW Surge Tank lev nu\nu\\to rlsé to }pﬁroxmately 55% when the high

level alarm will auto at&ﬂy{liﬁﬂh\ e valve,

/’\
d. CCW Surge T,arf( level wit ventuah( overﬂow out the vent valve/ \

N )
\ - R 4 // \‘\:‘ y
\
\ _/,/ g \\ AT A
\ e A J /} V /\\ R - \

/é\ \G@e nk level wil eventually overﬂ@w o\,ut the vent \Ei@
\\ \b - \/ /\ AN T /
. > ~
\ i\‘\ . /
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Question: 40
Given the following conditions:
* RCS pressure is 1805 psig and decreasing.
* RCS temperature is 525 °F and decreasing. //‘**-\_
* Tavg is 537°F and decreasing VA
= Steam Generator pressures and Steam Flows are: </ N
/ M‘*\\‘\\\
SG PRESSURE STEAM/RL}»{ VT,
‘A 626 psig and decreasing 1.7 x 10°% | pm/hr NN 4
B 745 psig and stable % X 10\ Ibé . >
‘C’ 740 psig and stable <ob5\g @5 Ibm\ hr \ ”
AN
Which ONE (1) of the following Safet? In]ect\ro\n s\*g\s\wouky{e actuated?
/,\\\\ \\ \\\ \
. . < N S N
a.  High Steamline AP NN \\ / /\
b.  Low Pressurizéer Preséure o N
,———...\ Y \
c.  High SteKLlne\]-/ow with Lo\v %\6 // e
AN

d. High \ eFIoww:tHy'v Steam Line Pressure /\ AN

3
Y 3
\
7 P
[ R
\

\ H|g Ste miine aP
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Question: 41
Given the following conditions:

* Power has been lost to Containment Pressure channel 954.
s Containment Pressure transmitter PT-950 has failed low.” ‘\,
NO actions in OWP-032, “Containment Pressure,” hayé been performed

A large break LOCA occurs and actual Containment Pr gsure reéches 21 psig.

7
o
Hi-Hi | SO0 W0 Hi-Hi
] \\ ~ N\ \\\\\\ A
/ > N X \/ \\
. [ e 0 , Yo
Which ONE (1) of the f@lloﬁmgﬁascnbe\s the_response of the Contamment Spray system?
N \\ N \\‘ T~
</ A \\ / \\ ‘}

a. NEITHER\raI of Cgﬁtamm /a‘t Spray will automatical @ T
\\\\\ \
}lfm\

b. @Y Tralrﬁ\ oquntamment Spray will automatically:ac

N

4 \}
a. NﬁTHER train of Containment Spray will automatically actuate



Question: 42
Given the following conditions:
The unit is operating at 100% power.

Normal letdown is in service.
Pressurizer level control is in automatic

increase.

RNP NRC Written Examination
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/”“\

\\N‘

~——

Leakage passed the hydrogen pressure regulator t\ the V’C\)} cadses pressure in VCT to

/\ AN o

Which ONE (1) of the following describes th?ﬁect of this OMCP seal flow?

@>\

No.1SEAL | No.2 SEA{ N N ( /
LEAKOFF LEA F\ .
FLOW FLOW ™ ~ \\\
N .
a. Increases nereases X AN
“ e\\é N :
P . e
b. Decreases/ %&xea\se / \
c. Decreases /;ﬁiﬁé—FéQSQS\ PR
\_ ST : \
d. InQéages\\ w43Vecr9\ase$; /\Z\\ — \\\
« y, \K\
{ \\\\*-\«\\ // y / x )
Answer: O\ - y VA4
s \\ \,(\»\ /\ //

Increases

\ w\\\%éa%s§
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Question: 43
Given the following conditions:

e A reactor trip occurred from 20% power.
Coincident with the reactor trip, 480V Bus E-1 deenergized and was subsequently
energized by the EDG. /Z

* Twenty (20) seconds following the trip, SG levels a<e/ \

/

N 7
SG  LEVEL S \\ ——
N 12%, / (‘/ /’/\‘\ AN \\>
ey < N / , \ /./
B 28% ANN Vs Y
oy 26% SN S
AN /
Which ONE (1) of the following des(&bc—h‘u&xpeﬁed\e@dﬁon of the Auxiliary Feed Water
pumps 20 seconds following th \ T \\
N N\
N N
o . \ \ \\\,/ ///\.
MDAFW | MDAFW “J. SDAFW ¢
PUMP A’ | é&m’ ‘B~ “PUMP N

Runping, ‘|, Runping, || Of

o | s | e

a
b
.

c. Off Ru\nﬁmg Off
<<f\\ b{K N Off Running
AN

\ \ > <

NI Running off N />
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Question: 44

Given the following conditions:

The plant is operating at 50% power.

All control systems are operating in automatic. al/

The First Stage Pressure Channel Selector switch is |gned tot Wne PT-447 position.

First Stage Pressure Transmitter PT-446 fails low. { ( Y i
\/ )

Which ONE (1) of the following plant reponses is 5:x/p ;tﬁ? . /7

AN

SN

a. Feedwater Regulating Valves thmﬁliclosed / \\/
b. Control Rods step inward . <
OSSN\

c.  Automatic rod control is blacked N \\\ NS

d.  Steam Dumps haveédeim&s & ) A
/ ¢ \

Answer:
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Question: 45
Given the following conditions:

e Due to low heat loads and extremely cold outside temperatures, Spent Fuel Pool (SFP)

water temperature is 65°F. { AN
e CC-775, CC FROM SPENT FUEL PIT HX BUTTERFL Vg\lve,}{as been throttled to the
maximum allowed closed position. </ N
PR

‘‘‘‘‘

Which ONE (1) of the following actions should be /tafég t\(alse Spent Fuel F;ool water

temperature? S ON_ N
SN

N /
a.  Place the SFP on recirc to the RWSj\ N \ // \
b.  Throttle the discharge vap/e \f*thé\m-s\erwce\SFP /Go/ollng pump
N

c.  Shutdown the in-se PP\C?:@IL\ pum>

d.  Start an additio /uafS ollnb punqp

oanN
A \\ . \\1‘
Answer /\ \\\\ /
c %ﬂdewn\tl\e 1} sgﬁu:e SEP/CooImg pump

N //
Q
/’\
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Question: 46
Given the following conditions:
The plant is operating at 68% power.

Power Range channel N-43 is out of service for repairs, ™\
N-43 has been removed from serwce in accordance with the OWP

S
\\\\\

a. NO effect since the OWP placestﬁe DRBF/ED ROD\MQDE switch in the

Bypass" position \ “ \ & Y /
b. NO effect since the Dropped RQERunb\\k f\equm;s two of-four (2/4) coincidence
to actuate N

c.  The turbine will run f&\\iec\e\\ds at Z/b% per minute

/‘-«\\

N
d.  The turbine wﬂf runba,ck at acch rate of 200% per minute / \

(NN PR
a N 3 LT
S v N .
Answer: \ \\ </\ ///f 4 > —— \)
e . 4 ) ~
c. ZI/he turb\iﬁé\will nhchk Tor 9 seconds at 200% p {mrgfe // > \

_ AN
/\\\ \\\\ % / %‘1 \ < O

RS \
\ > N
S / | \ /)
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Question: 47 .
Given the following conditions:

e A LOCA has occurred inside containment.

* Due to electrical problems an entry was made to EPP-1 “'L“o‘ss of Emergency Coolant
Recirculation."

e One (1) Containment Spray pump was operating ug(fn e{at@ EEE,_]5 with containment
pressure at 16 psig. o

= Subsequently, an entry was made to FRP-J.1, "@;p\nse to High- Cont/ainment

T

Pressure," due to containment pressure bei /ng at L 14 |g\an€ Ionermg slowly.

.

Which ONE (1) of the following descrlbes the ctnoﬁs that are )o@ taﬁen regarding the
Containment Spray system? Q /

Q N4

a. Return to EPP-15 to gete ine Cohtalnme\nt Spray system requirements

\
b. Stop the running Contal\r{neht\Spra\Sump A
\\\\\\ //. \‘
C. Maintain the c:/ rrfﬂ\gontalnme\ S?y system confi guratlon \\ \\\

d. Start tr? secb@ Conta /nment Spray pump
\\\\\ /\ / /

Answer:

A )
.’\ Mané ontainment Spray systém \:onf

\\
AN

\\ \/ /\

/

N
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Question: 48
Given the following conditions:

A recovery from a small break LOCA is in progress.

NO RCPs are running.

EPP-008, "Post-LOCA Cooldown and Depressurizatloi{" is belng implemented.

Depressurization of the RCS has commenced. -

Pressurizer level has just risen rapidly from off-s c%&ew tbéO% \\7
N

The depressurization of the RCS has ... \.v

<//>T

a. increased RHR and Sl flow, wh/ch ts\ragldly ré\fl )Ag the pressunzer

/h —

/
b. caused voiding to occur In/theTea\tor Vqs\eL head,which is rapidly refilling the
pressurizer. AN -

N

c. increased auxullary my\ﬂomwhmﬁm rap@ly refilling the pressun;er

e
d. caused vondlpé in e%ress er Ievél reference leg, which is prdvndlng an
indication of rapuéy,mf?eas lz\regs nzer level. \

e e} \\
¢ \ e < \ B ‘.\
/ \ \.V,,//\ . /\: " //\\\'“’\M \
Answer: \ N4 / P N
b. é::ied :/Bi\d' g to\oclj‘r“m,the reactor vessel head which )%;\Jdly refill M

suri ) |
(\ \m{> /\/k\

e,

\
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Question: 49
Given the following conditions:
* The unit is operating at 100% power.
Rod Control is in Manual. / TN
* A safety valve fails open on SG 'B'. / Y

Which ONE (1) of the following describes the INITII/\L é{fect%n/(ndlcatea“power and RCS

Tavg? , e/
SN N
7 NN S
- / \\ i
INDICATED NIS RCS T.A\(G AN
SN
POWER \ \\ \ \ / /
y
a. Increases Re{nalr%Re\latNQ /
N Constaht \./’
b. Increases "t \Bégre\as\s A
= / \
c. Remains Rélatlé&// /Rema\lrmyﬁvely . \\ Y
Const nstant S U
Okak 4 '\\ Cg‘; \4 — ‘.\
d. Remé\l?élaﬂ\m|y/ "~~~ Detreases // N T
4 onstant [ ’ // v
D K\ /\>

A4 LN “
An{u@ \ \/ \
S “g k\

By N> Incré;s s Decreases! |\ ~—~—
v N R %
~ : VT /
AN \\ ) \\ v
\ AN
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Question: 50
Given the following conditions:
The unit is operating at 85% power.
e Control Rod Bank 'D' Demand is at 195 steps. TN
* IRPI indication for Bank D Control Rods are as follows. \
»\//} 5"‘“\\\\\
ROD POSITION /S \ — >
D-8 123" SNl
S N
M-8 121" R
” A g / /\\\ v
H-4 120 RN ‘
, e
H-8 110 N\
/\\ AN N
H-12 122" O\ N
7/ \\\ N N
Design power peaking and Shutdown grgiqtimits >
RN NN A
/ /> \\ \/ Y
a.  are met und;{r these corditions: / NN
{ N \\ / “M\““:\ \
b.  willbe <§t\(f Eogtrol/Rdd“kj-B i‘F withdrawn to 115" ,\/\ \\\\\ N
' - /\\...// / / \\, ““““““““““ \
c. wiung_met\'rf\po er i reduced below 80%. / ~ \\ >
\\\\\ \\‘__‘_/ / - \/
d D-8 is inserted to12%< N ) ~
RN /\//
3 (.
Answ\ar\\ /\‘\ \\‘\\\
N\ \} . . . \ ,E\\\ /\
b. \Wlll pe/rﬁet if Control Rod H-8 is withdraw! tg115’ s
\\ \ AN
V4 N4
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Question: 51
Given the following conditions:
A reactor trip and safety injection have occurred.
* Due to multiple failures, an entry has been made to EPP-1 B"‘Uncontrolled
Depressurization of All Steam Generators." / )
e Containment pressure is 8 psig. (/ S
The RCS cooldown rate is 130 °F/hour. oY T S
* SGlevels are: /\ . N
/ // /\'\\‘\ \.\
SG LEVEL < (\ Y, N P
w 1% OO\ SN
AB’ 30/ \\( \\ \ \V/ /
o . N\
</ \\‘\\ \\ AN /
‘C’ 14% AN NN N\
N \ ’\
Which ONE (1) of the followmgactlo\sshoutdbe tak@
/ T \ \ . \‘\
a. Secure all AF{W té%\//a”d"B S\Gs‘ vsyﬂe feeding 'C' SG at a rate betwéen 80 gpm
and 90 l{smg a MDAF pump /f ‘‘‘‘ ~d
b.  Secur to 'and)B SGs while feeding 'C SG/é\ \arate between%() gpm
and 90 g the SDApN pump \
C. ed ‘A’ ar:c? 'B' SGs at a rate between 80 gpm a d 90 gprﬁ Ie feeding 'C' SG

~ onfas né&ded.to maifitain the RCS cooldoWéte low 100 °F/pou
@) V\K&Gs\t? rate between 80 gpm and ‘\30 gbm

\\ Y\\\} NY Q

Answer: \ AN "\ \“/

\ .
P N
d. >Ee’d all SGs at a rate between 80 gpm and 90 gpm
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Question: 52
Given the following conditions:

e The unit is operating at 100% power.
» Testing is being performed on Reactor Trip Breaker ‘B /anﬂ”t is_currently open.
* Aloss of the ‘A’ 125 VDC Distribution Panel occurs. 3\

e Reactor Trip Breaker ‘A’ fails to open. / a4

NS R

Which ONE (1) of the following describes the exp/eée\dre\sponse of the pla/m/ due to this
sequence of events, assuming NO operator ?@n’? / . \ \\ ~~~~~
/ / N S

a.  NO reactor trip occurs { N \\ \/ >

A

b. Reactor Trip Bypass Brea(er B\Q&en\qn an Unde/ oltage trip ONLY, resulting in
a reactor trip \ N NS

\\ Y \
N\
c. Reactor Trip Bypassé(eaker\‘@ obens on /a/Shunt trip ONLY, result;ng ina

reactor trip - g \ / \
d.  Reactor Trlpryp/ass/B/eakér\npe s on BOTH an Underv Itage tnp and a
Shunt t/np, res\ltlng |rl/a/ reactor trlp e \
\ S /\\“// ,} /,\\ IR - . \\
y .
Answer: T \\ <\ . / / _/ Y \)
{ N‘k V4 // :2

Reactor 'Eﬁ'ggypas%eaker ‘B’ opens on an Un oltage trip O , resulting in
areactor trip, - Ny &
i
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Question: 53
Given the following conditions:

* The unit is in Hot Standby.
e A change in boron concentration from 500 ppm to 470 ppﬁ'i§[qquired.

ay \
Using the supplied references, which ONE (1) of the fquéwirgz/a“entitjgg approximately how many
gallons of primary water must be added to make this\change. 4 T
a

7

) v ' > ’\\ - \\ T

a. 70 gallons ./ S/ // N \\ ™,
A v N ~ T
b. 90 gallons 7O o S
g ,\\ \\\ \\ \,/ /’/
c. 3000 gallons NN
~ \\ N \'\\ AN
d. 4500 gallons NN N
£ \\\ N N
. NN S Y .
,,,,,,, Ny N A
DI N O
;/ \// s \\\ > \\ \‘\
Answer: i (> N -.\:\ \
.. AN . 5 / X \
/ AN 3 e, X,
c. 3000 gélions, - ) N ~
0 { \ /’\\.A./' //’ // \ ~~~~~~~ .
NN | / // P \j
% N Y, \/,
\\ Y ““““““““ /' \ //\
p\\\ ™ T / iy \ /7
. \\ \B ‘.S \‘l
AN \ - Voo
N \\ \/, /\\ ! L\\\N \ /
\\\ \\ \/ < \‘3; “\\\\
\\ /\\/ \ ‘2‘\‘\ \\\\\\ /
N\ AN \ ~
NN



RNP NRC Written Examination

RO Answer Key
Question: 54
Given the following conditions:
* Unit 2 is being ramped to 100% following a refueling outage.
* The following Plant Parameters are noted: e SN
y \
PARAMETER VALUE </ <\ b
Loop ‘A’ Tavg 576°F / /\> \ e /?
Loop ‘B’ Tavg 575°F YA A ‘
Loop ‘C’ Tavg 576°F < ./ /> RS ] J
NI-41 100.0% /\ f 4 // >
Ni-42 99.0% / NN \\
NI-43 99.0%\ R NN
NI-44 1£ i AN
Loop ‘A’ AT % "ss;sz \\ 7 4
Loop ‘B' AT { ¢ 5’/ 8 N A
Lo~ v e NN
Loop ‘C’ AT N \\ 52¥°F \ R Z - 4 g_\
Loop ‘A’ Steam Flow T340x.10° lbm/hr SN TN
Loop ‘B//Steam.Eloy \Z{M)x)ﬂé lbrm/hr / / e \ )
Loop C\,‘Steam Flow 3\ x 10 lbm/hr A < </ ’ ' /> ~N
A Fe Fﬁw\\X)x 10°lbmmr /| \ <
ﬁb‘eﬁ > 3.40 x 10° Ibr/hr \ /
Laop ‘Qjeed Fid (y 3.50 x 10° bmvhr < N
1 \S{age Presst446) 545 psig \ \\V/
1 Stage Press (447) 546 psig NN,
Generator Output 730 Mwe N4

Using the supplied references, reactor power is ...

a. 99.5%. The power ramp may continue until the plant is at 100%.
b. 99.5%. Power should be held constant to perform a calorimetric.
C. greater than 100%. Power should be held constant to perform a calorimetric.

d. greater than 100%. Power should be immediately lowered.

Answer:

d. greater than 100%. Power should be immediately lowered.
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Question: 55
Given the following conditions:

e A Temporary Change (TC) to Revision 44 of OP-305, Boron Recycle Process, was
issued on March 1, 2001. RN
Revision 45 of OP-305 was issued on March 6, 2001 / AN

e The Temporary Change was NOT incorporated intp'Revi To\r; 45§§pt was cancelled and
subsequently reissued (using a new TC numbep\w tQhe"iss’uance ‘Bf‘Re}/ision 45,

< f““‘»\.\\ Y
The Temporary Change now expires on ... // /> U N
/ (’ / > \,,\ \}
AN N /\\‘/

a.  March 15, 2001. ( \\ 7
b.  March 20, 2001. YA NNRNN

R \\ \x AN \/

™ X AN
c.  March 22, 2001. / RN NS /\

N \:§ AN ™ a
d. March27,2004 >y N A

N4 N Ny
( (N ‘
\ - ~ T
Answer: STy /’Q \\\\\\\\ \

Mt / TN

c W&og N / /// ~ \)
v
\ \\\\\\\ — / //‘ <\ e / / /\/
\ \ O T N
AN N\ AL S \
\\ \b \/ / \\ \\\’
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Question: 56

Given the following conditions:

* The plant is operating at 43% power.
e An electrical transient causes a momentary underfrequency condition on 4 KV Bus 1.
e Moments later, an undervoltage condition is also sense/d on. 4 KV Bus 1.
* The RCP powered from 4 KV Bus 1 trips. area N
e The other two RCPs remain running. N \/ .............
e \\ \ """ 7
Which ONE (1) of the following identifies the signal w)uch DIRECTLY geherated the reactor trip?
s / / N o
. Bus underf
a us underfrequency Q /
b.  Bus undervoltage (/’\\\( \ \\ /
\\ \\:\‘\ AN S
c. Lowflow SUNON Y N
e ~. \\\ \\ - >
d Pump breaker trip—._ ™ % N\ N A
/ ; \\ \ :// \\
4 / '“\/// —————— \\\ J N ‘\
| P N .S kN \
L 4 e
\\m \\\ ,,,,,,,,,, e \\; (<\‘\\ A
Answer: /\ \\ //\ ‘‘‘‘‘ - /'j e - > N\\N\\ \>
. — N\ < / ~
NN S \
& \> <L
..... N N
' Pun%\Qre;qQﬁp‘ e 7 \\ oay,

N, AN —
\\ /\\/i> \\ i‘\\\\ z J
\\ / \ . S
N\ ) A
7 N



Question: 57
Given the following conditions:

* The SI and Phase A signals have just been reset.

Which ONE (1) of the following describes the expected

RNP NRC Written Examination
RO Answer Key

An inadvertent reactor trip and safety injection have occurred.

osition ‘of the Normal and

Emergency Inlet Dampers for the Containment Air Rec\&:cgla?ian’Fans (HVHHJ through 4)

following resetting of these signals? AN o
/ S C T /
/ / . \ N
NN S
NORMAL INLET EMERGENCY - / N
DAMPERS INLET DAMPERS { // >
a. Open ~ Onen N S
AN /
b. Open N Closeti\ NI
NN A
c. Closed s N \Open \\\ y A
N . ey /, ‘.‘\
d. Close,,z( e G\gsed 5 A .\\
/ !\ P ; ’ / T \"\,
<\\ ~—ee ,/’\ ‘‘‘‘‘‘ //; ;f // \ \\\\\\\\\\\\\\\\ . \\
S AN \ < ¢ d / S
Answer: /T N e S S \\/
N ) %
- i e
e N / AN
S o AN e
C. o C\osgd / Open ~ L e \,\
\ \/ /\ . / \‘\ A %{\\\\ 7
\ N oo
N\ > N \/
N \/

\
e
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Question: 58

Given the following conditions:

* The unit has experienced a loss of off-site power.
* The reactor trip and turbine trip have been verified. _ N
* EPP-1, "Loss of ALL AC Power," was implementedgrm/l the inside AQ restored power to

480V Bus E-2 per Attachment 6 of EPP-1. </ L\
A transition has been made back to PATH-1. T \\.
Sl has NOT occurred and is NOT required. // \ AN e /
E / \\ \
Which ONE (1) of the following describes hogv powér W‘" bh supphed\to the Charging
Pumps? AN VAN N
N e
. \\ \\, </ //
FROM 'B' EDG FROM/D&\IG\\ AN \\ /
N, i ;\ \\\ %
a. | Charging Pump Qhér@'mg\gun‘ﬁp\ X N
B AN
b. | Charging Pump Ché?gmgPump N </
'C' ,’/ e N \\ ‘\
c. Chargm% Pump ”C/hargmg Pump //\\\i\
¢ | A
d. Chargwm Cpa\gmg Pdmp > —
- f /x \)

. e
AN — > /\ e ‘
AN ARG /)
An wen\ \\)) /\\“ *\\\ yd
| /

d. Ché}gmg Pump | Charging Pump '\\\2
ICI 'A'
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Question: 59

Given the following conditions:

» The unit is experiencing a loss of all feedwater event and FRP-H.1, "Response to Loss

of Secondary Heat Sink," has been entered. TN
* NO AFW flow is available. A
e Containment pressure is 0.4 psig. ( ”\;
d 'A”\

gy
..
\“

immediately initiate feed and bleed? \

a. Five highest core exit TC tempefra\tu\es are 6% F, /65\6 °F 649 °F, 648 °F, and

645 °F and are all rising ~ AN /

b. RCS hot leg temperatureékare %2 ‘?E é&ﬁ }‘ and/ 648 °F and are all rising
c.  Pressurizer levels a/ mE*cahng &13\%,\97% ,and 94% and are all stable

d. SGwide rangeiévelsjare\‘iﬁ% 22%\and "36% and are all stable /

/ N vy
! ( ,,«// \\\k \\\\ / X \‘\.
x‘\ - 5\ N ) /\\‘\\:‘l 5
A~ N —~ \ A\
/ P ) AN \
\ ) s / ‘‘‘‘‘ N
AN S

T N,\ N

<
X\\\ — > /

(\ \sG{ang levels are 18%, 22%, and 36% ahd are\au\tab e /
N

™ \/ /\ “\\//

\ 4 -
\ 2/ N

Answer:
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Question: 60

Given the following conditions:

A unit trip and safety injection have occurred due to a SGTR on ‘A’ SG.

EPP-012, "Post-SGTR Cooldown using Backfill," is bein 4mplemented

RCS pressure is 940 psig.

It has been determined that the accumulators should be j olated

The breakers for the accumulator discharge valyes\(SI-8 5A B, C)T\*ave been closed.
The 'A' accumulator discharge valve (SI- 865&16 ﬁght indication aftg/ tis given a
closed signal. N

'B' and 'C' accumulator valves stroke clos€d aséxpéct@d \ \

Which ONE (1) of the following actions sr(ould\\a{aken(@g/a/ ing’ ‘A' accumulator?

~\
NN

A
a. Slow the rate at which the RCS is being depre%sunzed to allow a controlled
injection of the accu;z{u]’atqr N

‘\

N
b. Drain the accumutategtb\tne Réact Coolant Drain Tank ~\// \
c. Ventthe accﬂmufattfmz:nt\aihm Jt/atmosphere N
e ““\ X \
d. Mamtagn’ pressu;e’bove 1800 psig until a Contammqﬁe\ntry can beade to
locally slose the dlscharge’ valve e

/ \\)

\ ) N
>
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Question: 61

Given the following conditions:

duties in the Training Section for twelve (12) months. -~ \
» He is retuming to Operations and is to be placed back-on shift.
» All licensed operator continuing training and fire bng/ deguﬁhf catlons are current.

[y
\\“‘

Which ONE (1) of the following are the addltlonal MmeDM requtrements ;or returning his
license to an active status? / / <\ ,
/ \ \\ \>
Y N/
a. Complete FOUR normai shifts mdq ng shiftAdurn ve§,-IAW plant procedures,

before and after each watch.\anﬁ re\hg th@ rocedure changes for the past
three (3) months / SO N /
\

b. Complete FOUR nor. shtfts mcludlng §h|ft tumovers IAW plant procedures,
before and after eaéh\ atc and cd'aduct a ,tomplete plant tour

c. Complete Fl\rorm;l \hl'fts,\mcludl shnft turnovers |AW plant procgdures
before and after éa;[wvatch, éhd review all the procedure change§ for\the past
three (3) moriths LY

d. Comp teFN\E crrﬁsmfts lhcludlng shift turnovers lAW:pT ‘nt~px:qcedﬁe§
befg\e a afte\iqh watc/.énd conduct a complet}/plagtwt}ti \)

\/
AnSIRL = \/ / \\ % O>
rocedures,

E‘n lete (Oﬂl;l3 normal shifts, including shift turr\overs D\\W plant

fore a r each watch, and conduct cbmpletepb@q
oW
\/ D
\ NS
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Question: 62
Given the following conditions:
* The unit is operating at 100% power.
* RCS Tavg is 575.4°F. TN
* PZRlevelis 53% N
e VCT level is 23" and stable. ( Q i
e Letdown flow is 45 gpm (FI-150). , g .
* RCP seal injection flows are: // \ AN S
AN
RCP  SEALINJ VRN

CA? /./\\ ) / /\ ~

A 8.3 gpm N & yay

‘B’ 7.9 gpm N \\ ay

gp AN \. Py

«Cv 7 8 gpm &\ \\\\\\ \\ \.//_/ .
Which ONE (1) of the followméwou\cfb\g the\gmecteq/ﬂow indication on Fl- 122A Charging
Header Flow, assuming N,ORC§ leakagé? A / \

™ \ : Lo
3 ( '/1/‘\ \“\ \\\/ 1\\ \\
a. 2 1 gpm R r\\ e ‘ \\ /‘*« ‘‘‘‘‘‘ \1\. \:\
. - H — \
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Question: 63
The following personnel are entering the RCA to perform plant related activities:
1. Two operators doing a valve lineup in the RCA expect to receive a dose of about 125 mrem each.

2. Operators doing routine radwaste processing. TN
3. Electrical maintenance workers cleaning and mspectmfan MCC breaker in the RCA.

.....

a. 1and2ONLY < < VAR
// \\\ \ / ,/ N
b. 1 and 3 ONLY \\ N\, S
/',\\\ N AN \ 7
c. 2and3ONLY N4




RNP NRC Written Examination
RO Answer Key

Question: 64
Given the following conditions:

The unit was operating at 100% power.

All IRPI indication fails to zero with NO rod bottom bistabi€ Ti Tghts
A Turbine Runback to 70% has occurred. V/‘
APP-005-A3, PR DROP ROD ROD STOP, is :IIum\atec( /

Which ONE (1) of the following procedures shoulg ‘6e gs\ito mmgate thls x%nt transient?

/ // // NN ~
a.  AOP-001, Malfunction of React/or\éontroT\Syste;m N R

’

b. AOP-015, Secondary Loa} R@tloﬁor Tgrb% Runback

\\ N \ /
c. AOP-024, Loss of Ir1>trument Busess N N
d.  AOP-025, RTGB lns\tmmenbkanurev 4 .
‘‘‘‘‘‘‘ L N AN
/ //\> - \\\\ \\\ // \‘:\
’ ( \/,/* “\\ \\ / \\ -\ .
- N AN A \ 3
Answer: \ - P & R
™ Y /.\ ~~~~~~~~~~~ —
a. AOP-O(T‘i\M\fsknch?n oFRe 7ctor Control System > “\\\~>
~~~~~~~~~~ \\ / u //\ > \ \/
\ \\ /
~ N— /) \\ /\/// >
{ \ \ L N
| \\ - \ s ; y L hS
N Y ON T
\ ~ N D/
/ N L
AN >
S U
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Question: 65
Given the following conditions:

* A line break caused the Fire Header pressure to drop.
* Fire Header pressure eventually stabilized at 83 psi?/ TN

N

Which ONE (1) of the following expected fire system respon és wouFd have resulted in this
condition? N \...‘.7

/ > AN e

AN
a. The Electric Fire Pump automatlcagly starteg/fhén the Dlesel Fire Pump
automatically started. / ‘

NN N

b. The Electric Fire Pump automa\tlcally\st\ari\ed éﬂd/he)mesel Fire Pump remained

in standby. / AN \ N

Y%

c. The Diesel Fire Pum *automatlsally started theh the Electric Fire Pump

automatically starte N S N

S ANy \\ \\\ A

d. The Diesel Flr;e/Pump‘automatlcally started and the Electric Fire P(ump remained

in standby. { S N / \

Lo N e\ \‘\
/ \ AN — /,/\\; }g \/\ — \\
Answer: St RN ““\\ ~

4 /-

— >
a. ;Fﬁe Electréﬁwebu an‘l/ atically started, thegtﬁe Dtesef Fi Pump\ /
amgwatl ||y started ‘ N\ f
/ | \\

/ \ ¢ A
\\ ) &N \‘s\ (. /
\ AN A\

N
Y% / NeOY T
S /‘ ~ AN [ /
\\, N \ ‘\\ i
N\ / \\
N . /
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Question: 66
Given the following conditions:

* Emergency Diesel Generator ‘A’ is in the process of being started on Unit 2 to parallel it
to the E-1 Bus. e

* A "Remote Manual Slow Speed Start" is being perfor! ed in acc\:ordance with OP-604,
"Diesel Generators A and B." /

Which ONE (1) of the following describes the opera/t\r} o\Nhe dlesei ggger;tor voltage
control during this evolution? N \ “““

OO

/
a. The Voltage Regulator will au'ua/mza\\"l tgl vol(ag% between 470 VAC and
490 VAC during the entire stgrt after the field a/utomatlcally flashed at 200 RPM.

.

b. The Voltage Regulator mét be m al}xshutdow{aﬁer the field is automatlcally
flashed at 200 RPM, aivd Wﬂl be utoma’u&a[ly reinstated when engine speed is
above 900 RPM to 6Qntrol vo&agé\BeerryMO VAC and 490 VAC

c.  TheVoltage Re/gulatcy‘ wffbe\automa\lcally shutdown 5 seconds aftet the field is
flashed at 2q6 RPM Wﬁes NOT reach 900 RPM, and must be
manually relr\§tatéd when engme spéed is above 900 RPM {6 centrol véltage

betwe: 27\ VAC : and/49@ VAC ,\ — Ny
d. The Voltage Régulagr rﬁust e manually shutdown affert fi eld is aﬁt \c/ally
flashed at-20Q RP ust be manually reinsta ed ine spe

ébgve 900 RPM to control voltage between 479‘ \/AC a 4'90 AC

—— 1

\\\\ / \
Voo
Answer\ \ > Voo
\ \\ N

\Thé Voltag Regulator must be manua sh\fdown afte thefield is automatically
\\ flashed at200 RPM, and must be manua relnstaFedwhe engine speed is
\above 900 RPM to control voltage between 470 VAC\and 490 VAC.

AV A4

/




Question: 67
Given the following conditions:
The unit is in Hot Standby.

All systems are operating normaily.
SG "A" PORV is closed.

SG "A" PORYV automatic potentiometer is adjusted fr6m

RNP NRC Written Examination
RO Answer Key

PN

< ~
‘.\

/
\G" td " 50"

.

Which ONE (1) of the following describes the effe/c( aﬁ)ys}m{the potentlon}eter will have on the

PORV?

/

< / / > \ //
N \
SETPOINT | PORV | < \t\ ( //
= \'\ N AN /
a. Increases Opg\nsg SN /
b. Decreases Qp\ené\ \‘\\ /\
\\ N N \\\- A
c. Increases |~ Remains™-. N O\
f/ (QO = \\) S \\ \\
d. Decr?aes \| Remaj ' , Ty
_Clesed § || _ ~
o J /./ > e \»
AN
NN SO N
Answer: ™ < <
. “_lIncréases N Remains ' \
NN Closed A Vool s
N N\
N AN 3 ™
\\ \\ N
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Question: 68

Given the following conditions:

* A small break LOCA has occurred.

e Entry has been made into FRP-C.1, "Response to Inadequate.Core Cooling.”
e CETs are all indicating between 740 °F and 760 °F anzizi,rg slowly.

e RCS pressure has stabilized at 1605 psig. ) 2/\

* PZR level is off-scale low. / .

e RVLIS Full Range is indicating 39% and lowe /m/g §}0\My ........ -

* Charging flow is NOT available. \ A

* SG pressures are all between 360 psig a{d 400/ psé / \

Which ONE (1) of the following actions sl@uld\pe\tgkené\ Va _/
//\\ \ \\ \\

a. Dump steam to coold n nd ciepr&sunza the-RCS to provide Safety Injection
/ow

flow \
\\ N )
b. Open the RCS/Ven 8 sfem valves tqdepressunze the RCSto prevné;le Safety
Injection ﬂOW/ z_\ \\ Ny

e
.

d.  Open the PZ ORXé y’essunze the RCS to prowde>afetyTn]ect|onTlo¥v
AAAAAA /

Ans < \ \)

\Q @unﬁs& cooldown and depress{e
flo

\/

e \
c. Start a{:l%mmedlatgly to prowde forced cooling flow //“ 3
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Question: 69
Given the following conditions:

The unit is at operating at 35% power in preparation for increasing power to 100%.
» Circulating Water Pump 'A' is under clearance for main /enance
e A fault occurs on 4KV Bus #4 and all loads are lost. /

Y
\

Which ONE (1) of the following describes the effect Qn%e tufbtﬁe to the ab?e conditions?
S > AN C\ ~~~~~ -

a.  The turbine will NOT automatically t{p buit mﬁst\be ﬁwanuahy tripped when
condenser back pressure mcrease 10 55" HgA / N

b. The turbine will automattcally trip due\to 3\3 bu'c/ulatmg Water Pump breakers
being open / \\ \ . /

c. The turbine will automa 1ly tnﬂwhen cohdensér back pressure increases to
10" HgA unless load.is lo ed tththm the /capamty of the one remammg

Circulating Wa}eppum\p \ 8
/ \

d. The turbine will NOT ﬁummaWdue to load already being wlthm the capacity
of the one reh\walnmg Clrculahng er Pump N

i (\ - ’
/ AN \\ .-/'/\ D 1; /.\>N.M.“WN\ \

Answer: S~ \ \ o //
b. ﬁ'meturbl W||I aut%ﬂcally trip due to all 3 Ci /qc atln\Wét;c m}breakers

being ope -

/\ \
\ \\\\/ /\\‘s‘ (.

oY /
\ / LU
N \ \\'2
AN \// \ /
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Question: 70
Given the following conditions:
* The unit is operating at 2% power.
e The following RCP indications are observed: /”‘“\,\
INDICATION RCP ‘A’ RCF/B’ ( i R RCP ‘C’
Motor Bearing  210°F and T slowly 18 /‘-‘a>nd\§table .-.196° F apd 1 slowly
Temperatures S
#1 Seal Leakoff  150°F and stable < 1509? ar{d s)able 1\65°F and T slowly
Temperatures Ny s hv
#1 Seal Leakoff 5.8 gpm and stabé 2k2gpm aﬁxd s/table' 3.8 gpm and stable
Flow
Thermal Barrier 10"and s ble \ \"i 8" and stable
AP / \ X _
Frame Vibration /Gmlls‘ang 1%% \g 8'milg’and stable 4 mils ahd T at
per\hr 0.05 nil per hr
Shaft Vibration ( 12 mﬂs and st le . / mils and stable /5;_DJKI|§ anaT at
0.6 milsper hour
,,,,, '\ e ~
AN

Which ONE of e fo wm%des the actions requnred for th } ond|t|on'%\ N

NN NS
a. \bp\' ' RGR.and en e> Technical Specifi catl/n/';la‘t\és Leops ~Modes 1 & 2

b. the teactor,.stop 'A' RCP, and go to PA1;H 1\
\E\t/op 'C RC/E and enter Technical Sp@ﬁeﬂ 3. 4 4 RCSLQ s - Modes 1 & 2
N\
Tn he reactor, stop 'C' RCP, and go to PATH-1 ™
AN

\

Answer:

a. Stop 'A' RCP and enter Technical Specification 3.4.4, RCS Loops - Modes 1 & 2
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Question: 71

Which ONE (1) of the following requires entry into DSP-001, "Alternate Shutdown
Diagnostic"?

Answer:

s
< \

A fire in the Main Turbine that has the poten?tc{ destroy the generator when the
N

reactor is above 10% power )
’ e
A fire in the Containment Vessel that has'the ﬁo\entlal tadestroy the pressurizer

vy

heater power cables when in hot standﬁy /? \ o

A fire in the Control Room that has the ;ﬁten/ al to destroy ﬁHR pump control
cables when refueling / / / .

e
A fire in the Auxiliary Buildi }1@ tha ha§thé\potent1a| te’ destroy the running
Charging Pump when in Qold wn \

\ N

/ \\ “ )

\\‘\ \ \ \\ /7 /«\
/ \
A fire in the g:/ nment s\sel hat as the potential to destroy the pressurlzer
heater powem ca S when in hot dby // — \\

AN
/ Sn N
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Question: 72

CC-707, Component Cooling Water Surge Tank relief valve, is sized to accommodate the ...

a. maximum CCW insurge to the tank resulting fron/1 a1osa of the Residual Heat Removal

system. y
/. é ‘
b.  maximum flowrate associated with a rupture\of a e@ctor Ccrolagt Pump Thermal Barrier
Heat Exchange — 7
eat Exchanger. /\ N e
c. maximum CCW insurge to the tank ;ésultlr{g /POrQ a loss of t@e Service Water
system. < , N
O N
d. maximum flowrate associated W|th a rupfure o(a/ReSIdual Heat Removal pump cooler
during the recirculation ph}saof\an abcndent\ //
\\\ \\\ \\\ \\/’
\\ N \\\\\\\ \\\
Answer: Nl Yy AN “\\ / _ .
. A_\ . \ o / \
b. maximum ﬂowra?eas /o,cxated\\wth a rypture of a Reactor Coolant, Pump Thermal Barrier
Heat Exchanger.._.- ~ e U
~ \ . ‘\ ({{‘ T ‘-.\
AN \\,,,,//A B, N \\\
( e /7 \ .
AN N/ / / A \,/>
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Question: 73

Which ONE (1) following procedures is used to provide instructions in the event of a cask
drop when loaded with spent fuel in Dry Shielded Canister (DSC)?

v N
a. AOP-005, Radiation Monitoring System // \
SN
b AOP-008, Accidental Release of Liquid Waéte &\/ N s
N e
c AOP-013, Fuel Handling Accident /> N . ~
/ ,- ~. N
SN NS
d AOP-028, ISFSI Abnormal Events<. s // /\\ o7
7 AN . / .
AN \\ \ \ / ./
S NN N
</ \\\\\ \\ \
Answer: N \\ %
d.  AOP-028, ISFSI Ab@ \Events?‘ - > )
~ A
// \/? \\\ \\ ’/ \\
[ O™ NN
N % \: N /\k\ ‘:\& \
\ \\\ ‘_///”\ hY l: A \‘m.\ \
N~ 4 TN
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Question: 74
Given the following conditions:

*  The unitis in Mode 2.

e PZR level transmitter LT-460 failed low and was remov/ed from service.
The PZR high-high level and low level bistables associated wuth LT-460 were placed in
the TRIPPED condition. <

* PZR level channel selector switch LM-459 was sQIe d td"461 REF?L\%?O

\\\\\

Which ONE (1) of the following describes the fynctlop >pI'Q\Vldéd by R level transmitter LT-
461 under these conditions? \
p < \ 4
a. Energizes the backup heaters oh a h\ig\leyel%e(atlpn
b. Decreases charging pkp\speed oﬁ\anl\i\&ng level
c. Deenergizes the proémlonakand \ckqg r}eaters on a low level A

Ry

d.  Tripsthe reaaér (on va/{'n igh- hlgb\ veI < \

g )\
/ \ \\ ‘‘‘‘‘‘ /// \'} ‘ /\4\\ )
) \ AN St / —
Answer: ~ o N { /
g \\\\\\\ N N w \ \/
C. energizes the proportional and backup heaters\on éyéve
< NN \\ 3
\\\ \\\\\\> //\ \‘x M\\\\\ /
AN NJ? N )
\\ / \ ‘\\ I
AN
N\ ) \ >
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Question: 75
Given the following conditions:

* Reactor power was initially 100%.
e All CCW flow has been lost to the RCPs and a reactor tr t/Lp Flasbeen initiated.

Which ONE (1) of the following nuclear instrument indi ]%tlorg would Warrant entry into
FRP-S.1, "Response To Nuclear Power Generatlon/A s -

-
—-

\ N
a. BOTH source range channels are e(ergyzegand\lntérmedlé;e range startup rate

is +0.1 dpm ~ . \/
s \

b. Power range indicates 3% ._ N AN \\ < /

AN NN /
c. Source range startup rate\qs +0. 3 dpm N AN

d. NEITHER source ran/qa c\aﬁn\el is energiz /d and intermediate startup rate

is -0.1 dpm ST \ A
P 7 \ '

{ { :’/ '“\_\ N \/ Ny

\\; »\_\\ \

Answer:

s ‘-\
a. BOTH<our§ ngephéﬁnels are energized and |nter ed te range artuprate
@ 7 >

‘ -*’P\«x o \/x /

) A <//>
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Question: 76

Given the following plant conditions:

* Following a refueling outage, the unit is being raised to 100% power.
* Reactor Engineering has NOT |mplemented any power r;a-mprate limitations other than

those stated in GP-005, "Power Operation." AN

/ \ \‘

Which ONE (1) of the following power changes would violateth,é powe\ramp rate limitations
identified in GP-005? /\> N .
/ ) . N \\‘\«
/ \ .
AR
a. Raising power from 7% to 14% over a 3-mijnute ;fe%d N/
b. Raising power from 31% to 36 6\/0 o\(e?\a \1 hgq/ﬁenod/
\
C. Raising power from 62%( 65. 8% gyer a1 Ttogr riod

d. Raising power from)gé"/\t&% 2%&\6r a 1-khour period
SN NN . &
,/ \> \\\ \ // Y

Answer: / \ e h ) S \
NN, N
ising p%er from>% to 65.8% over a 1- hO}H‘ p iod >

AN




Question: 77

Given the following conditions:

Sl has been actuated.

AFW pumps are supplying feed to the SGs.
Immediate operator actions are complete.
Foldout A has been implemented.

The Outside AO reports a large leak at the CS‘(

RNP NRC Written Examination
RO Answer Key

The reactor has tripped from 100% power due to a feed line break.

e
™.
S
\

/ N
N \\ &/ -

..
.

N b
Which ONE (1) of the following describes the. a{allable/éad(up\sourcés to the AFW Pump Suction?

J NN
PREFERRED | ALTERNATE | \
BACKUP BACKUP-. \\ A
a. Service Water | De /epweWLWa{gr i
b. Service Water | hr eWa\tér o
N
c. |Deepwell Wg’ter ~ /)reWa\er\ b
d. Fire at\ei* Sytiee Water
ST \ < —

.
.\‘m

Deepwell Water

\/

./ N ‘V
/ . ty
N
e
AN s
\ . 7
N \ "
\ /
\\
NV A
¢\
Y Y
A
e “‘\‘:\& X

S
{ <) %



Question: 78

Given the following conditions:

RCS Tavg is 567 °F.
PZR Pressure is 2265 psig.
PZR Level is 51%.

RNP NRC Written Examination
RO Answer Key

A turbine runback has occurred from 100% to 70% power.

P

N

// N
< ( gl

N N

Which ONE (1) of the following describes the expeé’t\et;ébndition of-the prc}xgrﬁonal heaters
AN N

and pressurizer spray valves?

\\

. VAN «
/ \// /\ \ AN />
/s )

PROPORTIONAL | SPRAY V/ALvels { // \/
HEATERS NN ~ Y
¢ N Y
a. On \Ope Y N \//
b On “\Closed:- N
_ Cro\ \\\ \ / .
c of [ ™Qpen N\ |~ / N
V. - 2 _~ N Y \.\
i 4 L - . ‘\\ 3\
d. off | L Cﬁe\s\e} < AN
\\\N’,/ Y } <“”
< o~ AT N

Answer:

/é(\ \5 \Qn’> Open N S
N NS
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Question: 79

Following an accident, FRP-C.2, "Response to Degraded Core Cooling," is being
implemented.

After the performance of several steps in FRP-C.2, the followmg\Cntlcal Safety Function

Status Tree (CSFST) conditions are noted: \
™
* Integrity - RED ~ Q/ T
* Core Cooling - RED N AN S
* Containment - ORANGE // AN ~
* Heat Sink - YELLOW Sl S > NN
* Subcriticality - YELLOW p AN “ N \/
e |nventory - YELLOW \ ~ \\\ < / (
Which ONE (1) of the following desgﬁbeéw}}(:h a\c\tlon\shou I¢'be taken by the CRSS?
/ \ AN “\\ \ \/
a. Remain in FRP-C. 2*Respon§§ to\begradea Core Cooling," until completlon and
- then recheck theCSFsTs L
s .\ ( \
b. Transition to;FRF‘-C,K"Respoﬁaetvoﬁ'\adequate Core Cooling" due to the RED
condition.on Core Coohng 3\

i
c. Transuér: to\RRP P. t/\'lRe’spghse to Imminent Press /:f ?}\ThermaLS\ho  due

&con nor{on Inte)gnty \
nsition to FRP- J. M "Response to High Cont ént\ﬁ’ e/ ; e to the
'E\\an\dltlo\ Containment /

/\‘ x \
AN \\ \ S~
N N T2
Answer (/‘ ~/ ™ //
\, . h
N\ D, AN
N
b. Transmon to FRP-C.1, "Response to Inadequate Cdre Cooling" due to the RED

condition on Core Cooling
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Question: 80

Given the following conditions:

* A reactor trip has occurred from 100% power.
* All SGs levels indicate 6%. N

.
N

Upon initiation of AFW, which ONE (1) of the following rre(zﬂ{/\desc}ribes the automatic
response of the AFW system to these conditions? ST~

SINL T

a. The normally closed MDAFW pump. d/ sc<harge Trow CQntr& valves (FCV 1424 and
1425) fully open N
/N
b. The normally open SDAFW pump dl harge ﬂqw/control valve (FCV 6416)
throttles closed s\

c. The normally closed §DAF)(V pu\mp\?ilscharge\‘kfw control valve (FCV 6416)

throttles open NN
\\ N

/
d. The normally C}pén M A pump ﬁzharge flow control valves (FC\( 1424 and
\ \ 1

Answer: T N N e

NN B \ 2
/\K\ “The no n\mﬁally\op)en SDAFW pump dlscharge/ﬂow} controlvalve{FCVY6416)
throf ed 4
NV &\é T
T~

N /\\ §
A 3 -
\ \ . %
N N
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Question: 81
Given the following conditions:

The unit is operating at 100% power.
Channel il PZR Pressure PT-457 is failed, with all blsta)ales inthe TRIPPED condition.
* An electrical fault occurs which results in a loss of Instrument Bus 2.

Which ONE (1) of the following describes the |mpact ttﬁt the k)ss of !nstrumgnt Bus 2 has
on the plant? / \, T y
J / \ N~

a. A reactor trip and Sl occur and BO/TH trams of ngmeé?ed Safeguards loads are
automatically started by the seq/uenc\ers\ & / /,

b. A reactor trip and SI occq/ but\QNLY\f{a\n\’A' En/gmeered Safeguards loads are
automatically started er sequer?sers A N

c. A reactor trip and Seccur, bqt ONLY Tra|n>B Engineered Safegua;ds loads are

automatically )arfédh,y\the sequencers\ / \
d.  Areactor trlp occ/urs But NG\S\oqcy!s P AN
\\\ A
3 < 3
ey e
< /\\ / 7 //\\ L \.\

Answer: \\ \ e { <§/X AN v
ine

c. A\'Racto and SI cur, but ONLY Train 'B/E ered a(eg s loads are
/\ w\ﬁe by the sequencers N

. \\
\ N /\ \A\\ “““
\\ /\ \\ xg;\‘\ )
. N N
\\v / N />
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Question: 82
Given the following conditions:
* The pI:ant is in Hot Shutdown.
* Aloss of 4KV Bus 2 occurs. /’ ““““““ \\
Which ONE (1) of the following identifies plant equnpmeﬁt thgf is; affected by the power loss?
//.h. N \ — //
a. * Reactor Coolant Pump 'B' P Nl
Station Service Transformer 22 7 / > N >
ANNArS
b. * Reactor Coolant Pump 'C'{ /\ ~ /
Station Service Transformer 2A ami\ZE '
N \
c. * Main Feedwater )1mp\ BN \\ NS
» Station Service Tranfbr:ﬁer 2 \
~~~~~~~ N \\ \‘\\/ / /\\
d * Main Feedwater Pumb\ (\/ \
* Reactor ¢ oo}ant/ 'C“ ) L
N \ N ‘\/ P \:\\ \\
/ \ \\\ TN ; \/ \\\\\\\ ‘
Answer: T T A N \\
— N < J/ e P
b. ¢ Rt\aébtok;oolé*\t\PUmp/'C' v /> \/
*_Station Service Transformer 2A and 2F ‘ N ~
\ "‘\ ‘‘‘‘‘ \\\}1 /{/“\‘ \ /\// \
O CL
\ AN \\\ / /‘/\ R
N p 3 T
\ /\ / \ 4
\\\ C AN \ N ——
N ,
N NP4
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Question: 83

In accordance with AOP-032, "Response To Flooding From The Fire Protection System,"
the concern for a fire water break in containment is ...

/"\

a. the adverse affects on safeguards equipmen /

b. the thermal stress effects of water commg m%ontéct/w:th fﬁ\rea(;?r vessel.
a \

c. the adverse impact on the instrumen/atlon /assoma(ed wrth sysTems in
containment. / . N

d.  the unanalyzed dilution causedb/y‘th\e%ater in\the,e/vén/t of a LOCA.
/ rd

\ \ ~ / ’
/ \\ N \ \ /
Answer: / . \ “\\ \\
\ s \\\ \
d.  the unanalyzed dimtleg Caqseaby the wéte/r in the event of a LOC,K
;/ C ‘;i/’“*\,\:\ /) \\\\\ \:\ X
/ \\\ M,//,,.\_\; ‘, '\(\N\ ‘ N
\ ‘‘‘‘‘‘ //\\W,/’ /; // \ M“‘*\‘\\ AN
—\ i / ™
( \\\\\ \& \\ ~~~~~~~~~ 4 / ) /‘ ‘//> \/
< 4
N S AN </'/\;
S~ NN CENEERN
/ \\ \ \) Y z“
\ ‘\\\\ \B\ 4 //\\x& L.\.\.h\
\ N N,
NV \\ o S
N O Y
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Question: 84
Given the following conditions:

* Inverter 'C', is being shut down in accordance with OP-601, "DC Supply System."
* The N-43 DROPPED ROD MODE switch is placed in tpe BYPASS position prior to
aligning PP-26 to its alternate supply (IB-3).

/ \ ‘

Which ONE (1) of the following describes the conse %nces offalllng—\b#ace the switch in
the BYPASS position? //q\ AN o /

/ /'/ RN

a. A turbine runback may occur due é Qn Ihstrum/ent Bus\tra;{slent

b. A reactor trip and safety |nject|on may \ccyr c%e to an Instrument Bus transient
/

c.  The inverter power supply breake\ﬁ&ay tw}eu/

NS
.
N

d. The backup power swp\bréaker\r?ray Erl;} epen when attempting to close

y ’“\> \\ \\ / Y
f (‘\/ —m\\\ \\// /\\\\\ \\\
Answer: - \ / ..... AN
\ \ \\\\\\ SN e N
a. Aturbin runbagk may/\occur ue to an Instrument Bus traﬁmnt NNNN ~_ N
/ Tl D \\ \ ....... / / \\)
AN - N RS
AN Y\“\\\\ // N / >
\ \?\\\ \\> /\ \ :\ \\\\ /
\ \ . \\\ / \ .
AN \\} \ 3 \
\ ~. AN H /
N \ N
AN /\ N e
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Question: 85

Given the following conditions:

» A batch release of Waste Condensate Tank 'E' is scheduled to be performed.
e The Waste Condensate Recirc Pump is out-of-service. // N

Waste Condensate Tank ‘E’ ... ( g ( N
U \““‘7
a.  can be recirculated after fransferring 10 Wasfe Qohdensate Taink ‘C’
SN
b. CANNOT be recirculated unless {rargferrec( toy\?aste Condensate Tank 'D'".

C. can be recirculated using Waste@oﬁdénsete ump B

/
d. CANNOT be recnrculateduntll theWaste\Condepsate Recirc Pump is repaired.

NN Y N
< \\:\\\ \\ /\
,,,,,,,,, ™~ A > \\\/ A
/ \) \\\ \\\ (/ .
Answer: {/ (J {/_‘_\ . S \\
d. CANNO be{ecwculatec,l untll the V@ste Condensate Recu'c ﬁ'uhwp is repa|red
N “"‘“m ..... J /; //“ ~~~~~~~~~~~~~~~~ \\B
/ K /
ST AN s \\/
\\ \ /\ S S />
— > /*z A / /\
AN A N N s/
NN SN,
< \\\\ \) i“x \ /
\\\ \\\ >\/; <\\\‘\ T \“m.\\//
\‘ NV \ [ /
\ R
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Question: 86
Given the following conditions:

* The plant is being started up with the Feed Water Regulatlng Valves and Feed Water

Regulating Bypass Valves all open. SN
* A Reactor Trip occurs. S/
RCS Tavg stabilizes at no load Tavg. S / N i
* The Feed Water Regulating Valves automaticall cTsse \/ .

v
Which ONE (1) of the following identifies the e /pecte/zf posmbn of the Fead Water
Regulating Bypass Valves (FRBVs) and the zeed Wate’r/ }ck\lalves\(FBVs

p AN
\\ \ \ & / /
FRBVs FBVs | AN
L \ N\, AN ,/
a. Open Open ™ | . AN
N\ . b
~ N N \\ S
b. o) Closed o N\ >/ A
pen _Glosed RN . A
c. Closed J ~-%{L\ \\\ > 5
d Clos Closed. 1. S U
- 0 OS " (":\ o t\
/ed\ antly N
\ o/ o) N
S NS SO NS
Answer: Ve »
\‘ S N N
A bp{n AN ~Gpen ¢ g\ AN \\/ /

Vi J/ oY
/ o/ \\ \ \ ~ /
S N

N
AN
5,
N\

N

/ 1
N ; RN
\\\\" \\\\\\ " N /\~\‘ \\\\\\\ ‘\\

\\\.,
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Question: 87
Given the following conditions:

* A small break LOCA has occurred.

* Dueto problems with the Containment Cooling system /36 Tamment pressure increased
to 6.1 psig. /

» After establishing proper operation of the Contalnn@t Qoolmg syg’gem containment
pressure has been lowered to 3.2 psig. N T

* Astep in one of the EPPs states: / § L e s

"Depressurize RCS To Minimize RC<‘S/ Leakm AN \ \;
c.  Check EITHER of/(he (m{wmgQ / y
PZR LEVEL vé\EJQ'ER mh\\ﬂ% /[60%]
OR™ N\ N AN
yoou\e LES§T/HAN 45°F[65°F] A
d. Stop RCSC ressuﬂz\attqu ‘ \\ \\
As the RCS |s/be\ng813pres§un§d RZR level is noted to be /‘V(andR\S Sut\)eoohng

is 76 °F.
_— \ \\ (\ W// J/ | //A \)

The RCS pressunza"ﬂon sh < Y

N\
\\ ‘‘‘‘‘‘‘‘‘ 4 /s \\ /\/

topp d| dlately \
//\ \ L\\\‘\ \

\\Q)atlnue u@rl PZR level exceeds 71%: AN \/
Y“\\

. continue until RCS subcooling drops below 85 °F. \\‘/

d. inue until RCS subcooling drops below 45 °Fi\ /)

Answer:

a. be stopped immediately.
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Question: 88
Given the following conditions:

The unit is in Hot Shutdown.
* The Startup Transformer (SUT) is supplying all 4KV bu/se‘s’.' RN
* A severe short has resulted in a loss of the 'B' DC B/us. o

7

'
Which ONE (1) of the following describes the responiéof\the\emergencydieéel generators
4

(EDG's)? y /> “ (.:: \\\\\\\\\\\ V4
LS N
EDG ‘A’ EDG'B' ~ o SN
' N g .
= N \\ \ ‘ /
a. Starts, but field DoeSyGT{tart N /
fails to flash $ NS \\/
b. Does NOT start ;{éﬁs\, but ﬂ*%d A \\ )
“fails toiash\ - P, .
c. | Startsand logds | Starts:but does |, A
f/ 4 \4)' QT lo ) \\ \\
d. Starts, but does | Starts and'oads /” “““ ~3
NQT lbad | ) | N AN
N T .
\“-«A‘_ \- N // /
/ ~~~~~~~~ N N / Va /B \/
Answer N & N4 A
N - /,/ “‘-, \ / / ’
. ~{.Does'NOT start | Starts, but field OOV NN
N fails to flash /\\ Y AN V
\ : '\
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Question: 89
Given the following conditions:
* The plant is operating at 90% power.

* Control Bank "D" Step Counters indicate 198 steps. TN
e A check of the Rod Position indications for Control Bark "D" shoWs the following rod

positions: ( 3 i
~ N N T
D8 at 124" // N N e /
M8 at 116" / NN
H4 at 120" / / N >
H8 at 121" / Va \ e

H12 at 131" / \ &/

Which ONE (1) of the following desef/besthe sta}us ofthe ro;is/m Control Bank ‘D'?
s

R
~
N

a. BOTH rods M8 anc(H12 a\emmam\hed fro% the bank

b.  ONLY rod Maé }usargggg mthe bank /
c. ONLYr H12 is mlsa/hqqed}om the bank Ve N
\\\\\\ T AN
d. All rods\a\nh\n o /d\h Q/meht imits /,/ > N
& \\\\\\ \ ,,,,,,,, Yy /\> \j
D / QSIIN
Nl LN

\% \;/?s misaligned from the ym& \L‘\,_\
\ —
/\} \ E\{“\\ /,/
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Question: 90
Given the following condiditons:
* Pressurizer pressure transmitter PT-457 has failed low and is being removed from

service in accordance with the OWP.
* The OWP requires the low pressure bistables in the Ha/gan racks be placed in the

.....

TRIPPED condition. & b
Which ONE (1) of the following describes the verlﬁcat‘on}eqmred for this fu ﬁ&tlon?
/ A~ N h
o 4 s // \\ ™ . \)
a.  NO verification is required oo S s
. // \\ \ < » / \\.\
b.  Independent verification .\ \\\» ayd
N
c. Concurrent verification =~ ™~ SN N2
N \, \\\ >
d Functional verifi ca/tklc)n\ NN v A
/ \ S N AR
;/ / \//"‘“\\ P4 \.“ \\
x AN ~ P Y Y
Answer: L S S
/ \\M,_ / X‘ /\(\ ~~~~~~~~~~ \
c. Concur\ren tve 1(catxoh / Y N NN
\\\\\\\ N S/ N o >
\/ ~~~~~~~~~ \\\ \_\\ ~~~~~~~ e /»/ p // > \/
AN - ) AR A
N N ) N SN
™ AN ¢ NS
\ \ \ Y \
NN ANV e
\ \ - > / N ‘"‘“\\\\/
\\ e ~ \\ ) §s\“‘\. /
\ < N
N AN
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Question: 91
Given the following conditions:
* The unit has just experienced a reactor trip.
* NO S| equipment has actuated. RN
* One (1) turbine stop valves is shut. e
* Three (3) turbine governor valves are shut. '
e RCS pressure is 1860 psig. : T T
- Tavgis 542°F. NN o
* All MSIVs are open. YA N N ™~ N
* SG Pressures and Steam Flows are: \ (V/ > S
S
SG PRESSURE STEAM F(ow NV
\ \ T/
A 925psig  0.1x¢ 406 |b¥n/m N4
\
B 935 psig xf 1 x“lds Ibmlhr
6 \\\«/ /«

‘c 845 psig” A?s x10° Ibm/hr\ A

The reactor is tnpped the tﬁcblﬁe is . \‘V e\ \‘g‘.
/ \ \\ e ﬂ_,// \, ‘E \/“-.\ \'\
\] / \“\\.‘m AN
a. tnpped\ar@ N NOT requnr . Ve \\ )
R s /‘x y

/ N ,
b. ‘meed and §I is re ired. ) N4
N A
<<z' NOTXW%d and'Stfs NOT required. JovT
‘.“ ““‘ \
\NOT @ S| is required. /\ Vool
\\ \\/ /\ \\\\\ .y \/

\ T
Answer: \\ ) AN
y N

c. NOT tripped, and Sl is NOT required.
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Question: 92
Given the following conditions:

A reactor trip occurred due to a loss of offsite power.

The plant is being cooled down on RHR per EPP-005, )latural Clrculatlon Cooldown."
RVLIS upper range indicates greater than 100%.  /

Both CRDM fans have been running during the entl/ ooQIdown

RCS cold leg temperatures are 190 °F. NS e

Steam generator pressures are 50 psig. / \> \~ <™ /

Steam should be dumped from all SGs to ergure /. / | \ ~ N >
AN

/ \ \ ’/ S

a. boron concentration is equahgedthrougheyt t\e ‘RCS pnor to taking a sample to
verify cold shutdown boroﬁ conditions. "\
N

b. all inactive portions ;af/\ \e\BGS &egelow 290 °F prior to complete RCS
depressurization. _ SN N \// /

\

C. RCS and SGXeng \e equah;ed prior to any subsequen’g RCP restart.
N

d. RCS te ures do QT mqrease during the required 29 hour véssehsoak
penOd \ \".—/‘/\w._//' ll /A/\l\‘\‘\\‘\ v,

\ / ’
~ \*\\k \\ S / / // AN )

“““““““

AN - ?
. all inattive p |ons f the RCS are below 200/F prlor ‘to compl ,e/ RSZé
depressurizati \\ /
\\ v



RNP NRC Written Examination
RO Answer Key

Question: 93
Given the following conditions:

The unit is operating at 100% power.
A release is in progress from Waste Gas Decay Tank 'A% .
* Aloss of Instrument Bus 3 occurs, requiring termination of the release

Which ONE (1) of the following describes how the release is nnmated\as a7result of the

loss of the Instrument Bus? y /> \ e /
/ ~ N N
a.  Automatically due to the loss of R: 44 Plant Vep( MQnJ(tc\)r
b.  Manually due to the loss of R-14, PlahtVe\nt labnltor %
AN
c. Manually due to the Ioss of power T@Ihe Wast\e\DlsposaI Boron Recycle Panel

d. Automatically due to ttLe\ Iossng pOwer to the Waste Disposal Boron Recycle

Panel pyal N\ e
™ \ g
f o m“‘\\\\\/\ N
Answer - N\ P S

N N 3 A 3

/\ \\* —//,/‘ \\; l} \./A_\\‘\ X
- SN T

7’
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Question: 94

Which ONE (1) of the following conditions related to the Pressurizer would require entry into
a Technical Specification action or a Technical Requirment Manual compensatory action, as
applicable?

—

/
a. A pressurizer level control system fault resu {s’ in Igvékbemg at 68% with the plant
operatingat2% power  _SN_ N/ 7
AN

b. A pressurizer pressure control syste (aul esults\l\n pressurehéng at 2184 psig
with the plant operating at 14% po r / /

at

c. SST-2A Disconnect, used to supplyémergene/ po@e 0 the pressurizer heaters
from EDG 'A/, is removed from\serWCe maManc with the plant operating at

AN
35% power / N \\ N | /
d. Aucxiliary Spray, at /OOQE ls used to depre surize the RCS from 2235 psig,
resulting in a cooldown ratéfz the heasurl rof 135 °F per hour
//M\\ ™~ AN 7 “‘~
> o ' A
Answer: / > /*‘“\\‘\ ) YA
nswer: (.~ . N4 / . \
b. A pre<p cobtrol isystem fault results in pr;ssurehemg at 2‘184 psig
with the plant eratgng at 1/4% power S/ ™~

> P <\ <,
{\\i\/\\/ \/ LN /\/
\ x\ k. —
\\\\ \)) 7 <\ \\ - \\\; ./
/\ ~ \_\ 1\ T /
\ N .
\ AN



Question: 85

Given the following conditions:

RNP NRC Written Examination
RO Answer Key

* The unit is operating at 70%.
e Rod Control is in AUTO. //”“‘“‘\ .
* Bank 'D' control rods are at 195 steps. N 3\
> Trefis 566.9 °F. AN
e Loop Tavgs are: N \\7
2 N
LOOP  T-AVG NN
' CS NN
‘A, 569 OF AL \.\/ /f/ ~ \\'V Ve
VERNRN SN
‘B’ 567 °F \ N \ a4
[Fall 0 A i /
Cc 566 °F / \ v s
Which ONE (1) of the followmg/fam\és wﬂkcause cohtrol rods to step inward?
,,,,,,,, \ ‘\/) A
S \\ N / \
a. Loop 1 Thotf ils hlgh’ \\ N N
4 vy
b. Loop1 Tgoldﬁnl%’fow \.‘ ~ // T \\\
N R — N
c. Loop2 cold ils hI?lf\ ~ /\ N
/ / / ) \\
d. oop 03 ils Io Sl S X ~
\_\ /“%\\ \’/ / e
/\\ O SN )
y i \
Answerty. .\ B Vo /
> - T
/z{ d fails high . §
AN

\\
\\
\

o
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Question: 96
Given the following conditions:
* The unit is operating at 30% power.
e Adropped control rod has just been re-aligned. /“‘“‘\
* While attempting to reset the Rod Control Urgent Fallyre alarm, the operator inadvertently
pushes the Rod Control STARTUP button. / < \ 3

Which ONE (1) of the following describes the effect o\fop\emtlng the- 1r1g9rre<,:t7 button?
/ ,/ N \\ \\‘ . -

7 4 / AN .
a. All Control Bank control rods drop{nto the core 6au/s|ng -an‘automatic reactor trip
N

b.  Allrods, including Control Banéand\s\stdow%\Bénk rods, drop into the core,
causing an automatic rea?tomg N \ //

c.  Allrods remainin the}r Qr?ent p\sn%n an\d\th\re’ is NO effect on the Rod Control
System circuitry \\\ N \\ >

\ N

e,

all rods are flrﬂl)/I erfed—. \ \/ \ \

A I .
Answer: <\ \\ W// / / \/>
e R*od Con %zcmtry senses

&e@(al in thelr current position, butfh
\\Iro reullyinserted /\ \

N\

\ N\ N \
AN \ /
\ { \ ‘s\ e

\\ . \ N
\, 4
Y )
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Question: 97

Service Water Pump "D" is capable of being powered from which ONE (1) of the following
power sources?

/‘" *“\\

a. ONLY 480 VAC Bus E-1

| o~
b.  ONLY 480 VAC Bus E-2 / ()

‘w
c.  Either 480 VAC Bus E-1 OR 480 VA? Dé\g\bs\ N e/

d.  Either 480 VAC Bus E-2 OR 480 VAC DS Bs > AN N f>
O <\ /
\\ \\
Answer: / N ‘v;\\
S \;\ NN .
yd . ﬂ\\\ \\ h \\ ~ / \‘:\
d.  Either 480 VAC Bus“EQDR 480VA DS Bus . A
/ AN \\\,,/”\ G N
\\ {/\ N // // > T— N \\>
( S — \\\ \\\\\ // < y / \> \\/
\ . ‘ YA
N SO
//\\ h N ) / \“x \
S Voo
\ § \ \v\ /} /\\ L‘\\\k \ /
NV > \ e S
AN ™~ LT /
\ \(\ s\\ I
AN %
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Question: 98
Given the following conditions:

e A plant cooldown is in progress in accordance with GP-007, "Plant Cooldown From Hot

Shutdown to Cold Shutdown.” TN
* RCS Pressure is 1500 psig. // N
* RCS Tavgis 515°F. y ( N 1}_
* ARCS leak is identified inside containment. AN LN i \7
i \ N T
Which ONE (1) of the following identifies the va )cf S|gnals tha(could resultln a Containment
Ventilation Isolation under these conditions? e / b \_\ b
- ~ : T
/ \\\r\\ (/ / “ :

a. = HiSteamline aP \ N
* Alarm on R-12, ContayﬁménLNobl GaS\Monlt

\\
U,

b. * Low Pressurizer Er\essuﬁe Safety Injectlon
* Alarmon R-14C/\Plant EQuehtNlee Gas Monitor

,,,,,,, ~/ A
c. * Manual actdaﬂon}f C\ntalnmen\t Isolation Phase A /
* Alarm ony R—?Z C,entammeht\ﬂo) Gas Monitor A
d - apu ét{atlon /ofCQntamment Isolation Phase A \ I
. onR-14C; Plant/Efﬂuent Noble Gas Momtor % \ ~~~~~~~~~~~~ N \\
~ N <
% — “\AA S / / \\/>
~\ > K <
O \ /
Answe \ / \\ N
/ﬁ\ AN -
/\ {' \N\‘“\
Ny T -

b /actuatlon of Containment I\Iatlon PhaseJ\ //

Iar m on R-12, Containment Noble GaS\MOHItOK\
AN 5
N N4
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Question: 99

Given the drawing on the following page containing an ECCS alignment, which ONE (1) of
the following describes the ECCS alignment?

. Vel ‘“‘\\
a. Cold leg injection / BN
TN ,
b. Cold leg recirculation { (\/ Fmm
- NN - 7
c.  Hotleg injection SN TS
Yy N
d.  Long term recirculation ¢ /\ SN
AN\ 7 4 A Y e
RN 7N
N\ AN \ / 7
S \\ \\ \ /
/ \\\\ AR /
. \\\ \\ \\\ \ /
Answer: / NN .
N NN N N
,,,,,, RN 4 A
,/ //> \\\ . \\\\ ‘/ \\
d.  Long term retirctlation . / N
/\\\ \\ e /\\ ) </~\ -
< \ - /\\ i ; ~ /\ B e, N \
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hY A X et i S BEIALY
ol B RME X SH.BETALE
A %} B RHR Fo
il {‘ ‘J N
} A RHR Y
; ey A RRR, B
KaiHa s1m»\ f.lm.u SLBLTE G504
T i
ol v o
P ;
N 0P 1,2,7 COLTHERS RHR.THY [
. RMR. 246 ]
VAN ROy
Q . HErHLES
RN RHR-759A throttled to 1200 gpm
\ \ )
N
\ v

RHR-750B throtthed to 2300 gpm
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N AN
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Question: 100

Given the following conditions:

* A Large Break LOCA has occurred.

e PATH-1 is being implemented. e
* The CRSS directs you to "Verify Supplement D comppﬁents cabable of recirc.”

Which ONE (1) of the following describes the actions p mnttectdurmg pefformance of
Supplement D, "Emergency Recirculation Equ1pn}eﬁt"\’{ ‘ . /

yays o NN ~
a. Restoring flowpath from contammént sumpt/ BHR o
b.  Aligning flowpath from RHR pumps tq ﬂ\e \SI &Jmﬁs s
c. Restoring control power tQ SI v\alves contro\a{fr the RTGB

d. Aligning flowpath froé Sl pulnpslo the hot Iegs
\\ \ / /\

, / :> \\\\ \\\ / \\l
[ OIS N
/.\ \\\\ / - \;1 / el
Answer: N ) AN ™
\ \ (/ N // / /\ ~~~~~~ “~ \>
{ o “\\& \\\ - %/ 2 > N
/!
e
R tonngfontrol poyr to Sl valves controlled fro {heﬁ B \)

/ ~ NN CUN N
A N
\\/\\ //\\:‘i ~~~~~ — \ /



